UGC NET 2021 Comparative Literature

Topic:- 72CompLit_A

1) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgotferRad sterior @ uf$u 3iiz IAD dic D Yool o Iar difsre:
AT 3 YD DI DI TAT AT S ST ADN SlI Usel A 3l 3R xR adr 3 Sid 331 Yaoe 3 oueb b 31e & -1 od A A 3D
Aol [AR- AU A DI UIg Gaad ofdl . Al U6 Yaad 321 UGl 3R S0l dict TP ofth dI YRIeoldl oeil & dl $ADT 359 YA 3l SIS
33 gIa® D AP H DI foroliciRad 9recl 31 3T SIT ADAI & © Sl B Ml D8l Sl APl 3, A FUTE WU I D8l Sl ADdI 8 , 3R PRID ar i

3 3A YIAD DI 3894 R &, srerar KR & orél siftiq fermr &1 sifdreafts &1 2Hien zar xdiiden 3: a:ifes fdar &l e dice! Ale siol &
ferg , zat farameuiier Mo @ <Xeil ueil @1 uar ceten aen  ( 3rerfd &3t as Alael AsT Blell AP BRY A o1l St A 3 ).

sfere 21 e ol st 3 &1 wdian s A 3, 31k 31 e @ g 3MR Sl Se a8 I 3feIdlcT BRI .
facstartar Bt Tager cnfsi)- fscRwaar &t yzardon

This book can be understood only by those who have thought ‘similarly’ because:

32 YFA® Pl dacl d 3l W AP 3 Ricslol "Harel’ U A Ak 3 a=Iifp :

[Question ID = 1391][Question Description = S2_qSNz_PG_CLR_QO01]
1. It reflects on ideas at great length/swi AR} w fzar 3 aaf &t o 2

[Option ID = 5561]
2. It just expounds randomly/E &1 JARNBIE U I RRRN Bt

[Option ID = 5562]
3. It states only the conclusions/sut @act forsat Y fpu sm &

[Option ID = 5563]
4. It recounts the background of ideas/smi farari &t yeoayfar w1 qufer fopar s &

[Option ID = 5564]

Correct Answer :-

e |t reflects on ideas at great length /@i ARl w far A aaf &t o8 &
[Option ID = 5561]

2) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus

forgotferRae sterior ol ufeu iz U ag d ygil & Faz dfdre:



JHHTATAT A GIAD DI DI QAT Afep 8 FsT AN Sil usal A 3 33} AR 3adar 3 Sk 331 gra® i «ue e o1 & -1 ©a A ©a 339D
TGl R~ 3AfIE Az DI UIg Ydd ofdl 8. Al A8 YFad 320 Ul 311R AdsIol dIcl b Afth Pl Yooldl il 3 dl $ADT 329 YT 3l ST

A gra® D AHF H[ DI forIfeiRad orecl 31 3T SI1 AT 3 © Sl TP Ml Dal Sl APl 3, A FUT WU I D3l Sl ADdI 8 , AR PRID anr i

3 3 YIAD DI 389 IR D, 3121 KR & ordl siftiq iR &1 sifdrerfws &1 2Hien an =fidon 3: a:iifer faamr &l i el Ae dlol &
fere , &al framevtier e & Sieil usti @1 udr ceIe e ( 3reIfd G a6 Hidol AT Bloll  JIeT FSRY Alan o1él S Adar & ).

sAfere 3 o oI sror # & Fdiar S Jrodar &, 3R 31 AT & gt 3R Sl S9N a6 Al 3foldicT v .
fresiRicer &I gacqRT anfordl- fbelli3a &l YFdardelt
This book is not a ‘textbook’ because:

[Question ID = 1392][Question Description = S2_qSNz_PG_CLR_Q02]
1. It does not deal with a discipline/z fop=ft forerr 3 Jidfer ot

[Option ID = 5565]
2. It expresses only the author’s ideas/sw! ddct cRae @ AR =P v oE &

[Option ID = 5566]
3. It does not seek to explain the ideas/s fdarR} &t e ol wxdt &

[Option ID = 5567]
4. It seeks only empathic understanding/s a1 aggfere 2wrst i i1 Bt

[Option ID = 5568]
Correct Answer :-
e |t does not deal with a discipline/s fep=ft foreer 31 Jdifér ot 8

[Option ID = 5565]

3) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgaiferRaa sterior ol uféu 3z 3D a6 D Yool d 3 Sifore:

AHATRT 3 GIAD DI PIS VAT RARp & AT ADT Sil Usel A 8 IR frar @ar 3 51 331 grae 3 < fpu 31w 3 -1 & A PA 33D
A6l IR 3AfCIE A DIF UIG YD ofdl 3. AfS A8 YFad 30 Ul 3R AdAsIol dIcl b Ttb DI Yooldl Sl 3 dl $ADI 359U YT 3l ST

H YFAD D HHS) HId DI forrifeilRaa oregi 3 22a1 it Al 3 : Sl B M DI Sl ADI 3, IA FUCC BU A DT S ADAI 3 , 3R Brad and i

31 33 YD @I 3894 IR &, srerar iR & ofdl siftiq feremr &1 sifdreafts &1 2fian zar xdiiden 3: adifes fdar &l Hiar el Ale dlol &
ferg , zdt farameuiir Mo @ <Xeil usil @1 uar ceTel den  ( 3rerfd &3t as Aol AT Blell AP BRY Aar o1l St Addr 3 ).

safere s e ot arur 3 & wien s AAdar 3, SR 31 M D g 3R Sl BPN 96 Al 3ollel P .
faresiRIeol B gacqRa aIfsil- fbell3pa bl Ydrdelt
Which one of the following is a correct inference from the first sentence?

eI aral a1 fordol 31 31 A8 3rorel @RI 3 ?

[Question ID = 1393][Question Description = S2_qSNz_PG_CLR_QO03]
1. Silence expresses the inexpressible /3ol sicIch- MRl DBl RIH BIAT &

[Option ID = 5569]
2. Thought and words are co-present/f@ar iz greg arer -3rer 3ufderd &

[Option ID = 5570]
3. If there is a thought, it is expressible as well/afe R 8 , Al 96 =KD Dol A ot 3

[Option ID = 5571]



4. There are words for every cognition /Y 3isiel @ e 966 &
[Option ID = 5572]

Correct Answer :-

e Silence expresses the inexpressible/diler IRch- Mol DI RITb BT 3

[Option ID = 5569]

4) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgaifeiRaa sreror oI ufeu 3z 3AD dc & Yeoil & IR Sifor:

AT 3 YD Pl DI TAT =TT S ST ADN Sl Usel A 3l 3 R adr 3 Si 33 e 3 oueb b 31e & -1 od A A 3D
Aol [AAR- AT A DI UIg GIad ofdl 3. Al U6 Jaad 321 UGl 3R S0l dicl TP oftb ®I YRIeoldl ol & dl $ADT 359 YA 3l SIS

33 gra® D AP H[ DI foroliciRad 9recl 31 3T SI1 ADAI & : Sl B I D8l Sl ADdI 3, A FUTC WU I D3l Sl ADdI 8 , AR PBRID ar i

3 3A YAD DI 3894 @R &, srear R & orél siftiq fermR &1 sifdreafts &1 i zan =diden 3: a:iifer fdar &l i el Ae dlol &
fero , &dl ferameviier e & Sieil ustl @1 udr ceIe e ( 3rerfd g a6 Hidol A Bloll  JIeN fSRY Alar o1él S Adar & ).

sfere 1 e ol st 3 &1 wdian s A 3, 30k 31 e @ o 3R S Se a8 AN 3feIdlcT BRI .
Rrcsizeat & Saeqge anfsrdl- fbelRwaa1 &t yrarden

Limits of thought cannot be drawn because

foreme &6 2ftom oidt =fi<ht S AAw<dt 3 a=iif -

[Question ID = 1394][Question Description = S2_qSNz_PG_CLR_Q04]

1. We need to stop thinking to see such limits/:ft 2fiemail BI S0t @ fere st Aol dc Bt 6l sragaddr &

[Option ID = 5573]
2. Of the paradox of thinking unthinkable/fRI irar o&t S Adar & 33D AR 3 Ao fARemsm=i &

[Option ID = 5574]
3. We need to know of beyond the limit/ad fiem ugra @ a3 3 Siretol 6l sragAdmdr 3

[Option ID = 5575]
4. We need to exit the world of language/ &3 smur &t gfor 3 are2 fordbetol &t smageiddr 3

[Option ID = 5576]

Correct Answer :-

e We need to stop thinking to see such limits/¥f 3fiamsit ot 36l @ e & Adiden dg Bl B MavAddr 3
[Option ID = 5573]

5) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus

forgaifeiRaa srerior ol ufGu 3k 3AD dg o Yool @ Iar Sifdt:



AR 3 GAID DI DS TAT AR 8l AT ADT Sl Usel A & T frar zaar 3 Skt 531 gaae 3 <=aeb e o1u 3 -a1 ©d A da 339D
TG R~ 3AfIE Az DIF UIg YD ofdl 8. Al A8 YFad 30 Ul 3R AdsIol dIcl b Afth Pl Yooldl Sl 3 dl $ADT 329U Y 3l ST

33 YD D AHASY HId Dl forwotferiaa orecl 3 31 St Addr 3 & Sil @ il D8I Sl ADdI 3, I FUTC WU A D3l Sl ADdI 3 , 3 PrId an i

3 3A YIAD DI 3894 R &, srear R & ordl siftiq feremR &t sifdrearfts &1 2o 3ar =fidon 3: a:iifer faar & e el Ae diol &
fere , &3l framevtier e & Sieil usti @1 udr ceIe e ( reIfd G a6 Hidol AT Bloll  JIeN FSRY Alan o1él S Adar & ).

safere s i @1 s & & xfiar s aAwar 3, 3 s e & g iR Sit den a8 AN el JPN .
Rresizest &t Saeger aifsrl- fibeiR w1 & Yrarden

It is possible to draw limits to language as

1o <6t 2fiar fiaen @ 3 =il

[Question ID = 1395][Question Description = S2_qSNz_PG_CLR_QO05]

1. It is made up of discrete entities/s fifeep tedl 3 woft &

[Option ID = 5577]
2. It has an intrinsic grammar /s3I U AEST RDJT &

[Option ID = 5578]
3. Its substance, not form, is tangible/s®r U ol , siftqg ARG SR 2

[Option ID = 5579]
4. It is sequential both in speech and writing/ dictor 3l ferdor 3 sMgHiie &

[Option ID = 5580]

Correct Answer :-

® |t is made up of discrete entities/& faferp redl A ot 3
[Option ID = 5577]

Topic:- 72CompLit_B

1) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's nhame too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgarfeiRana srerior ol ufeu 3z IAD g D Yooll @ IR SIfomg ©
YBIUs @ 916 I AT ?
@B o181 . URoq T JBIUS D ¢ -PIS Bo o Sil A coIlg foo Gw o1él Ferrel 3IRY glol A yd A8 el St o ?

I DIE SlaR oidl 8l Al &l ; Wod YD a¥dg D ARl IR DI g Alel Alol 3 8l Al At . YD a¥q AR YAD FATel D G A HlIoll
5 931 DRI o1 .dact a3 8 a6 BRI B2 AT o1 .33ol Aldol BT YR v o5 s fpdolt 931 faar 61 3o ; URoq a6 ddcl $%ar @ ar 3
3 AT URHN . $%a3 T ol $%aR AT SIA IADI ol FEIWol L. $2ar @ fere Wikl o 13 € . e 3R a6 3t $ea= T oIt o ; 3R o/ DI
o7 Bl IURTGI BT gU IS € Y Dol Al 2z dAcpIdl Sllel ST b SURTeN 2ol arell cafts BIRRA o . ueq, A=l fra sz & srerI srereT
su3il i $ear B fr frool ot A 3iie $eaz FasIar o {5 31creT 3icreT T3l i yrefelr 2ol arcl clisT =i @ 3} 3, fibe off $eaz saonm adl $eaz a1
3R $%ar I aR<dld® oIE $%@R or .

SI3A SIRRI, T Uide 3t Tal 3iifdIc T T o7 ol

This passage is a reflection on
g oreni9l forgoiferRaa @ ar 3 Iolot 3

[Question ID = 1396][Question Description = S2_qSNz_PG_CLR_QO06]
1. The nature of the universe/gamvs &t yafer

[Option ID = 5581]
2. The limits of the universe/ggivs &t 2fam

[Option ID = 5582]
3. Different names of God/$e«az @ fafdroor omer

[Option ID = 5583]
4. God as creator of the universe/qgivs @ al @ Fu i

[Option ID = 5584]



Correct Answer :-
e The nature of the universe/ggmus &t yafer

[Option ID = 5581]

2) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's name too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgaifciRaa sreror oI ufeu 3z 3AD dc & geoll & Ik i
BIUS D 9IC a=AT AT ?
@O ofdl . Uod TAI YBIUs D 3¢ -BIS B a1 Sil U8 goIlu b B 518l FeIrel IRY 2ol A yd As del T oI ?
6 DI SHaR o1él 3l Adddl off ; Roq JRAD avq D aRI 3R DI TP Adlol Alol I 3l Al off . YRI® avq 3R YAD Tl D aR 3 Aol
5 ISI DRI AT DA a2 El A8 DRI B2 AT AT 3ol AHIdol DI YARI 51 {5 A1s Kool «$1 fdarR @1 8191 ; URoq a6 dad $%aR D aR 3
&l AT URI . $9a3 T ol $9aR o1 SIA 3ADI ol IEIGol L. $oar o fore Wil ot S1sns § Y o 31k gz it $ear obr oIt o ; 3R S/ BIs
$2q2 Bl IURTGI D BT SIBME $ Y Dadl dl $9R deeDIdl Silel  SIIdl fdb IURTGI @2l dlell caftp WIRERAl a1 . URed, A=ft foreda 9= 3 31creT el

srasil 3 $eaz & fore Mool ofer & 3iie $eaz FarsIan o f6  sicie1 icreT U3l i yrefelr ol arcl clisT o=l @ @ 3, fbe off $eae saon adl $2az a1
3R $eaz oI arRafdd ol $az or .

SI3 SIRRIA, T Uice 3 Qo 3i1icIe Ul U s ol

These are the reflections of a/an

g foraot 3 A D1 Hotat 3 ?

[Question ID = 1397][Question Description = S2_qSNz_PG_CLR_Q07]
1. Studious cosmologist/vmsierIeioflct genus fasioft

[Option ID = 5585]
2. Earnest preacher/uwm sisfiz 3ugorm

[Option ID = 5586]
3. Comparative linguist/u® Jefolicalcs o -fersroft

[Option ID = 5587]
4. Thinking mind/ve farRefler ARawwm

[Option ID = 5588]

Correct Answer :-

e Studious cosmologist/uvmsiRIciolicr geivs fasieft
[Option ID = 5585]

3) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's hame too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgotferfRan srerior @1 ufgu iR 3AD g B Yosil B IR I ¢
YEIUS D dIC q=AT AT ?
@B 18l . Ued TAT JBIUS D 5¢ -PIS o o1 Sil As coIfg b @ o1él Ferrel 3Ry glol A yd A8 sl T T ?

gz @IS SR offl & Al off ; ueq YA® arqg D ARI 31T DIE v Aol Alol 31 B Al off . YRAD avq iR YD Ferrel d dR 3 Alkdol
g 931 PRI o1 .Dact $0az 8 A6 BRI B2 AGAT A1 .33 Aol BT YRR b1 6 s Rpdon 931 AR @1 3P ; URoq a6 ddel AR & arR 3
&1 AT UrRn . a3 DI ol $%a2 AT SIA IADI ol FEWol 1. $9a3 B ferg Wilddl ona Stams § 3 o 3l ag ot $az @I ol o ; 3ik Sl DI

23 DI IURTGI B FU II3MS § Y P dl $%aR dcopIcl Sliol STl fdb IURTeIl ol dlcll RAftp PIRRI a1 . uved, A=t faed 812 3 31cmT 3[ePT



so3il i $ear B fre frool ot A 3iie $eaz JasIar o {6 31creT 3icreT T3l 3 yrefslr w2ol arcl clisT =i @ @ 3, b2 off $eae saonm adl $eaz a1
3R $oa3 BT aRAfd® oIeT $2az o .

SI3A SIRRI, T Uide 3t Qo 3i1fdIc T T o7 ol

About the universe we know that

YoEIUs @ Adel 3 3 Sl & fob

[Question ID = 1398][Question Description = S2_qSNz_PG_CLR_QO08]
1. It is infinite/s srfifdra

[Option ID = 5589]
2. It is nothing/xz @w odt

[Option ID = 5590]
3. It ends somewhere /%5 @&l J@a BT 3

[Option ID = 5591]
4. It is a mystery/us v 3B 8

[Option ID = 5592]
Correct Answer :-
e |t is infinite/us spiifdia 3

[Option ID = 5589]

4) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's name too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgaifeiRaa srerior oI ufeu 3z 3AD dc & Yeoll & IR Sifrg :
BIUS @ dIC =T AT ?
BB o8l . WRod, T JBIIUS D 3¢ -PBIE @ AT Sl A6 g9l fob @ o8l FeTol 3RY Blol A Yd A6 sl T AT ?
s DI SHaR o1él 3l Addl off ; Roq JRAD v D IRl 3R IS TP Adlol Alol I 3l Al off . YRIP 9 3R YAD Tl D aR 3 Aol
a5 a3T ORI o1 . Dact $2ar 8l AU PRI B2 AP AT .30l Aol DI YA fopan &6 a6 fpden a1 faar @1 8on ; uvedq a6 dad $%ar & an i
3l JIa R . $2a3 DI ol $9a3 A1 S 3ADI ol ol Al 2R D foru WiRRf ot Stens € 3 o 3l a6 9ft $eae &I ot o ; 3R /| P
03 bl IURTGI BT U S3ME € Y PadI dl $%aR deepIc Sliol Sl fob IURTGN 2ol arell Iftp WIRRA a1 . uveq, Jeft fora s 3 sremT et

sasil 3 $eaz & fore frool ot & siie $eaz JarsIar o f6  sicieT icreT A3l i yrefelr ol arcl clisT o=l @ @ 3, fbe off $eae saon adl $eaz a1
3R $eazr T aRdafdd ol $az or .

SI3 SIRRI, T Uide 3 Qa 3i1fcIc Ul T a1 ol

The boundary of the universe, if there is one, could possibly be marked by
Afe 31 gonus & oI Hlar 3, q Asramn Akl forermeil aeft

[Question ID = 1399][Question Description = S2_qSNz_PG_CLR_Q09]
1. Lines round the universe /ggivs @ arl 3R 3x©

[Option ID = 5593]
2. Straight thin lines/>fizft sidtor 3z

[Option ID = 5594]
3. Circles around the universe/qgivs @ ari 3l ga

[Option ID = 5595]
4. Lines round all planets, galaxies etc. /@R sJgl, 3ndbropensll 3ife & arl 3l 3w

[Option ID = 5596]

Correct Answer :-

® Lines round the universe /ggivs @ dari 3k 3G
[Option ID = 5593]

5) Read the following passage and answer the questions that follow:

What was after the universe?



Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's name too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgaifeiRaa sreror oI ufeu 3z 3AD dIc & Yeoll & IR Siforg :
BIUS @ 9IC a=AT AT ?
BB o8l . UReq I JBIUS D 3¢ -PIS T a1 Sil A6 g9Ifu 6 oo 18l FaTeT 3R 3ol A yd A8 el ST oI ?

I8 DI SHaR o1&l 3l Ad«dl off ; URoq YRA® avq D ARl 3R IS TP Adlol Alol I 3l Ad«dl off . YRIP aq 3R YAD FUTol D aR 3 Aol
g5 931 DRI T .dact a2 & a5 BRI B2 AT o1 .33ol Aldol DI YARA oo o5 s fbdon 931 frar 61 dlen ; URoq a6 ddcl $*ar @ ar 3
& Ara urRn . $903 @I ollA $9a3 AT SIA IHDI oA FEWol ol 2R @ forg Wildrdl ol Stans € g o 3l ag it $eaz oI o o ; 3ii? Sl ®IS
S92z bl IURTGN B gU S13M1E § Y Padl dl $2aR depIel Sllel Sl [ SURTAI ®al arell «afep WIRRA o . uveq, A=t fora 92 3 s1cmT 3reT
a3l 3 $ear @ feru froot oldr A 3R $eaz JersIar o 5 3rcreT 3rereT suail 3 grefolr @l aIct clist o=l @s W 3, b2 oft $ear zdoN adl $ear a1
3R $9aR I aRAfd® oIF $%aR or .

SI3 SIRRI, T Uide 3 U 3i1fcIc Ul U UsT ol

Only God can tell about the universe but
YBIUS @ a1 A ddcl $%a2 8 ad1 ADdl & U,

[Question ID = 1400][Question Description = S2_qSNz_PG_CLR_Q10]
1. The God of many names/3eId oIt drell $°a2
[Option ID = 5597]
2. Which or whose God /et sterar fepiat $eav
[Option ID = 5598]
3. God called by what name/ 31 o111 3 g Sifel dlell a3

[Option ID = 5599]
4. God whose name is ‘Dieu’/'SI3ms § <1 oleT aretr a2

[Option ID = 5600]

Correct Answer :-
® The God of many names/ [l Gl AIell $%a2

[Option ID = 5597]

Topic:- 72ComplLit_C

1) Which school of comparative literature is the polysystem theory ascribed to?

§g yurrell Rigia @1 gefolicaid A3 &bl v ferar -ueifer 2 Jder adarm siar 3 ?

[Question ID = 1401][Question Description = S2_qSNz_PG_CLR_Q11]
1. French school/wif3rit fiar -veifer [Option ID = 5601]

2. German school/swfer frar -uarfer [Option ID = 5602]

3. Tel Aviv school/de srdla fear -uerfer [Option ID = 5603]

4. American school/3wprib! farR -uarfer [Option ID = 5604]

Correct Answer :-
® French school/wiR3ft ferar -werfer [Option ID = 5601]

2) Whom are the ideas of Horizon and Horizon of expectation attributed to?

faiferst iz gemen o faiferst @ faml @1 91 fop2) &= Ssirar 3 ?

[Question ID = 1402][Question Description = S2_qSNz_PG_CLR_Q12]
1. Gadamer and Heidegger /st 3iiz 33s12 [Option ID = 5605]

2. Heidegger and Merleau Ponty/23s1z 3iiz dicit dict [Option ID = 5606]

3. Gadamer and Jauss/sewER i Siter [Option ID = 5607]

4. Jauss and Durisin/sita siiz gfRrer [Option ID = 5608]

Correct Answer :-
e Gadamer and Heidegger/semR 3k 3ssr [Option ID = 5605]

3) "Indian literature is an interliterary condition”. Whom is this statement attributed to?



‘R AfdT vop siar: wnffears Refer 3. 521 werer o1 9 o5 srar 8 ?

[Question ID = 1403][Question Description = S2_qSNz_PG_CLR_Q13]
1. Amiya Dev/sifdrn Sa

[Option ID = 5609]
2. Swapan Majumdar/Zqte #asgicR

[Option ID = 5610]
3. Ayappa Paniker/3rmur ufdis:

[Option ID = 5611]
4. Ganesh Devy/smor sdt

[Option ID = 5612]

Correct Answer :-
® Amiya Dev/aifdrn Sa
[Option ID = 5609]

4) Which of the following theorists identifies Interliterariness as the basis of comparative studies of literature?

forgatfeiRaa 31 3 b1 faR® ol AR D JelolcdD UK D MMEUR D WU 3 sia: A¥feadar & usaret 6 3 ?

[Question ID = 1404][Question Description = S2_qSNz_PG_CLR_Q14]
. Marian Galik/&f¥mor1 siferes [Option ID = 5613]

. Julia Kristeva/gjfern fegzdar [Option ID = 5614]

. Steven Totosy/3cdet cid=r [Option ID = 5615]

. Rene Wellek/3a acaras [Option ID = 5616]

A WN -

Correct Answer :-
® Marian Galik/#f¥=rer siferas [Option ID = 5613]

5) With which of the following concepts would you associate Edouard Glissant?

314 wgare! acfizia @l forget 31 A b1 sraerun @ AT SISl ?

[Question ID = 1405][Question Description = S2_qSNz_PG_CLR_Q15]
. Hybridity/3iw2ar [Option ID = 5617]

Rhizome/yas [Option ID = 5618]

Secular Criticism/der-forer sietiaeit [Option ID = 5619]

Distant Reading/gze usat [Option ID = 5620]

AWN—\

Correct Answer :-
e Hybridity/ziwzar [Option ID = 5617]

6) Which of the following writers is a pioneer of Dalit literature in Telugu?

forgotfcii¥ad 3 A Plel AT cRA® dga) I gfera AMdea o1 3EPufi & ?

[Question ID = 1406][Question Description = S2_qSNz_PG_CLR_Q16]
1. Namdeo Dhasal/smerda eriret [Option ID = 5621]

2. Ranganayakamma/3swerrifcba@an [Option ID = 5622]

3. Gurram Jashuva/spa siiger [Option ID = 5623]

4. Hansda Sowvendra Shekhar/zger 2ildg 9raz [Option ID = 5624]

Correct Answer :-
e Namdeo Dhasal/amieq eriet [Option ID = 5621]

7) What is a masnavi?

IAordl o= 3 ?

[Question ID = 1407][Question Description = S2_qSNz_PG_CLR_Q17]

1. A quatrain/uve agwudt [Option ID = 5625]

2. A couplet/u et [Option ID = 5626]

3. Along poem with internally rhyming lines/sneaii® u 3 gadct aret cidl ofdar [Option ID = 5627]
4. A death lament/we® 31y oliwb sffa [Option ID = 5628]

Correct Answer :-
® A quatrain/v® aquuct [Option ID = 5625]

8) To which of the following theorists would you attribute a pluralistic idea of history?

sfeerI & agaardl faar o1 91 3iru forsfeRaa # A e Rigiaer @ §a1 ?



[Question ID = 1408][Question Description = S2_qSNz_PG_CLR_Q18]
1. Hayden White/gsa1 cerse [Option ID = 5629]

2. Ralph Cohen/zrew @1gat [Option ID = 5630]

3. Henri Bergson/&et saferet [Option ID = 5631]

4. Fernand Braudel/waifs giger [Option ID = 5632]

Correct Answer :-
® Hayden White/3sal cerse [Option ID = 5629]

9) Which of the following statements form part of the doctrine of syadvad ?
A. Mortals cannot know the truth

B. Knowledge claims can be qualified in many ways

C. There is no truth

D. Truth is conditional

Choose the correct answer from the options given below:
forraiferRaa & A ®lel AT BT FATGAIG BT 30T & ?

A. oPaR I ofdl Slol ADA

B. <iel @ gl @l 3ol wu J Hfda s s rmar @
C. oF sca oél 3

D. wrca ayferder 3

il féu a1 fraseul 9 2 W& 3= goi ¢

[Question ID = 1409][Question Description = S2_qSNz_PG_CLR_Q19]

1. Aand B only/ @act A 3iiz B

[Option ID = 5633]
2. Cand D only/aaet C siiz D

[Option ID = 5634]
3. Band C only/@act B siiz C

[Option ID = 5635]
4. Band D only/dac B siiz D

[Option ID = 5636]

Correct Answer :-
e AandB only/ @act Asik B

[Option ID = 5633]

10) Which among the following texts deals with poetry and poetics?
A. Ab e hayat

B. Milindapanha

C. Tolkappiyam

D. Padmapuran

Choose the correct answer from the options given below:
forrarferRaa 3 A @l Mt pfel wre 3iiz Doy A Adfera 3 ?
A. 3d @Ema

B. fiiferocuoar

C. dicoiftRzIa

D. usrgzror

il feu sru fareeal 3 A Al Ia= gol ¢



[Question ID = 1410][Question Description = S2_qSNz_PG_CLR_Q20]
1. A and B only/d>aer A iz B

[Option ID = 5637]
2. Aand Conly/@aet A ik C

[Option ID = 5638]
3. B and D only/dact B 3iiz D

[Option ID = 5639]
4. Cand D only/@aect C sfiz D

[Option ID = 5640]
Correct Answer :-
e A and B only/@act A siiz B

[Option ID = 5637]

11) Which among the following are the poets of Dakhni?
A. Wali Aurangabadi

B. Mahlaga Bai Chanda

C. Sachal Sarmast

D. Bulleshah

Choose the correct answer from the options given below:

forgsifer3aa 3 3 cRaoll @ i @it & ?

A . acft siRemardt
B . #acTmT arf Tict

C . Jad Iara

D . geconms

[Question ID = 1411][Question Description = S2_qSNz_PG_CLR_Q21]
1. A and B only/d>aet A siiz B

[Option ID = 5641]
2. Cand D only/daet C . 3iiz D

[Option ID = 5642]
3. Aand C only/daer A siiz C

[Option ID = 5643]
4. B and D only/@act B siiz D

[Option ID = 5644]
Correct Answer :-
® A and B only/d@act A siz B

[Option ID = 5641]

12) Match List | with List Il

List | List Il

Philosopher Concept

A. Martin Buber I. Dasein

B. Jean Paul Sartre Il. Phenomenal field
C. Maurice Merleau Ponty lll. Bad faith

D. Martin Heidegger IV. I-Thou

Choose the correct answer from the options given below:

it -l oot 3Eh -1l A Fgafera HifSie :

et -1 et -1

( croffor® ) ( 3raemvm)




A. Ffdor g |.5ret ( dasein )

B. sai difer 2t I1. zxighres 8

C. auf¥a Al uiét lll. gufa

D. ot 3312 IV. & -gu1 ( 3ms-31% )

offcl feu aru frpedl 3 A 3 3R gfore :

[Question ID = 1412][Question Description = S2_qSNz_PG_CLR_Q22]
1. A-IV,B-II,C-1,D-1l

[Option ID = 5645]
2. A-IV,B-1II,C-1I,D-I

[Option ID = 5646]
3. A-1L,B-1,C-1V,D-1ll

[Option ID = 5647]
4. A-1,B-Il,C-1v,D-1l

[Option ID = 5648]
Correct Answer :-
® A-IV,B-1l,C-1I,D-1ll

[Option ID = 5645]

13) Match List | with List Il

List | List Il
Author Language
A. Lankesh I. Ahamiya
B. Indira Goswami Il. Hindi

C. Yashpal lll. Gujarati
D. Zhaverchand Meghani IV. Kannada

Choose the correct answer from the options given below:

Il -1 ot gt -1l 2 Idifera difsre ¢

et -1 et -1l

( oA ) ( smmeT )
A. ciaser | sraf3rRn
B. gfcer sliranit 1. &t

C. roruret lll. spsrredl
D. 3racic drameit IV. @wools

il feu o1u faasedl 3 A A8 3R gforo :
[Question ID = 1413][Question Description = S2_qSNz_PG_CLR_Q23]

1. A-Il,B-lll, C-I, D -IV [Option ID = 5649]
2. A-lll,B-l,C-IV, D -Il [Option ID = 5650]
3. A-IV,B-l, C-Il, D -lll [Option ID = 5651]
4. A-l,B-IV, C-Il, D -Ill [Option ID = 5652]

Correct Answer :-
e A-ll,B-Ill,C-l,D-IV[Option ID = 5649]

14) Arrange the following writers in chronological order
A. Namdev

B. Tulsidas

C. Ghananand

D. Karaikkalamma

Choose the correct answer from the options given below

forgatferRaa Craml Bt BIeTpIGRIR *Iaf¥erd bifsm:
A . omerca

B . gerficrar

C . geioic

D . ®asmcsam



forgaifeiRaa freseul A 21 3= gfore
[Question ID = 1414][Question Description = S2_qSNz_PG_CLR_Q24]

B, C, D [Option ID = 5653]
C, B, A [Option ID = 5654]
, A, B, C [Option ID = 5655]
B, A, D [Option ID = 5656]

)

Correct Answer :-
e A, B, C, D [Option ID = 5653]

15) Arrange the literary movements in chronological order
A. Parnassianism

B. Imagism

C. Symbolism

D. Dadaism

Choose the correct answer from the options given below

forraiferRaa anf3fea siicicioll @I DIcTaueRIR Raf-ed Hhifsre
A. ciarg
B. fgearc
C. ydiiowarg

D. crcrssa

il fou s1e fraseul 9 2 & Fa= goi ¢
[Question ID = 1415][Question Description = S2_qSNz_PG_CLR_Q25]
D, C, B, A [Option ID = 5657]

, B, D, A [Option ID = 5658]

C,B,D
A, B, D, C [Option ID = 5659]
A, C, B, D [Option ID = 5660]

A W N -

gl

Correct Answer :-
e D, C, B, A[Option ID = 5657]

16) Arrange the playwrights in chronological order
A. Maeterlinck

B. Lessing

C. Jonson

D. Webster

Choose the correct answer from the options given below

forgaifeiRaa GIICAIPRI B! BITRIIGRIR Rai¥ed &ifse:
A. i

B. afdzier

C. SieRIel

D.dee:

il féu a1e fraseul 9 3 W& 3a= goi ¢
[Question ID = 1416][Question Description = S2_qSNz_PG_CLR_Q26]

D, C, B [Option ID = 5661]
D, B, A [Option ID = 5662]
, A, C, D [Option ID = 5663]
C, B, A [Option ID = 5664]

A wWwN -

’

Correct Answer :-
e A D, C, B[Option ID = 5661]

17) Which among the following poets were devotees of Vishnu?



A. Warkari
B. Nayanar
C. Alvar

D. Satnami

Choose the correct answer from the options given below:

forgsiferRae 31 3 wlet A ®fd feroug @ srep & ?

A. ao§t
B. SRIGIR
C. 3rcar

D. ademeit

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1417][Question Description = S2_qSNz_PG_CLR_Q27]
1. Aand C only/ddet A iz C

[Option ID = 5665]
2. Band C only/@ae C iz B

[Option ID = 5666]
3. Band D only/@act D sz B

[Option ID = 5667]
4. Aand B only/@act A siiz B

[Option ID = 5668]

Correct Answer :-
e Aand Conly/adde Asiz C

[Option ID = 5665]

18) Given below are two statements
Statement I: Modernity in colonial India was mediated by print culture.
Statement II: Print had the potential to undermine the hierarchies of reading related to caste and class.

In light of the above statements, choose the most appropriate answer from the options given below

off< <1 werer Ry a1 3 :

@l - | : sfiuferafdre surda 3 sugformdr Fgur Izmia & areE A s off

ool - |l : ggur 3 sufer 3iiz ool A HdfRia uoa & Alurel @ gifer ugarar &t grarer oft
SWRfT Bl @ 3l 3 forarfeiRaa faedl 3 A Jaiferes Suwgw = gfore :
[Question ID = 1418][Question Description = S2_qSNz_PG_CLR_Q28]

Both Statement | and Statement Il are correct/emr | 3iiz || gleil 3& & [Option ID = 5669]

Both Statement | and Statement Il are incorrect/aermr | 3iiz |l Glail ateta & [Option ID = 5670]

Statement | is correct but Statement Il is incorrect/emwt | 3@t 8, fpoq @t |l s 8 | [Option ID = 5671]
Statement | is incorrect but Statement Il is correct/@erwi | s1cia 8 , fibog et |l & & [Option ID = 5672]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3iiz Il glell &t & [Option ID = 5669]

19) Match List | with List Il

List | List Il

(Critic) (Concept)

A. Amiya Dev I. Indian Literature: another name for Comparative Literature
B. Gurbhagat Singh Il. Literary history from below

C. Nabaneeta Dev Sen Ill. Death of a discipline

D. Gayatri Chakravorty Spivak|lV. Differential multilogue

Choose the correct answer from the options given below:



el -1 @ 3 -1l A Fafera dbifSie

et -l
et -
( sraemRvm )
( 3trcirae )
A. siftren 2@ Tm:@mmﬁm@m
B. spwera RBis Il.ofi<r 34 afdfea sieera
C..oreoflar &a et Il. v farerr @1 sica
D_' R et IV. fadice ager- werer

il feu o1u faasedl 3 A 8 3R gforo :

[Question ID = 1419][Question Description = S2_qSNz_PG_CLR_Q29]
1. A-lL,B-1,C-1,D-1IV

[Option ID = 5673]
2. A-lLB-1,C-1,D-1V

[Option ID = 5674]
3. A-1,B-1I,C-1V,D-1ll

[Option ID = 5675]
4. A-11,B-1IV,C-1,D-1Il

[Option ID = 5676]

Correct Answer :-
e A-lILB-I,C-1l,D-1IV

[Option ID = 5673]

20) Arrange the following books chronologically in terms of their first publication:
A. Rabindranath Tagore’s Gora

B. Rudyard Kipling’s Kim

C. E M Forster’s A Passage to India

D. Herman Hesse’s Siddhartha

Choose the correct answer from the options given below

forraiferRaa gzaml @l IeId> Y YdbIolol @ DICIRAGRIR cIaf¥erd bifsm:
A. ¥diogotrer oz &t a1

B. wsuis fdpufcisr &bl fabar

C. $uat .®Ble? &I ¥ AT ¢ 53

D. &wdH01 331 Y Rrgrel

oikY feu aru fareal 3 2 A Ia= ol ¢
[Question ID = 1420][Question Description = S2_qSNz_PG_CLR_Q30]

B, C, D [Option ID = 5677]
D, C, B [Option ID = 5678]
, A, D, C [Option ID = 5679]
A, C, B [Option ID = 5680]

A wWN =

)

Correct Answer :-
e A, B, C, D [Option ID = 5677]

21) Who, among the following, wrote the novel, Indira Bai?

forgatferRae 3t 3 foparar 3w ard ofitias Suc=IRT ferar ?
[Question ID = 1421][Question Description = S2_qSNz_PG_CLR_Q31]



E. V. Ramakrishnan/$.dteqwrer [Option ID = 5681]
Volga/axcsm [Option ID = 5682]

G. V. Rao/Sftdt.ara [Option ID = 5683]

0. P. Chandu Menon/3ir.dt.dg dteter [Option ID = 5684]

A WN -

Correct Answer :-
e E. V. Ramakrishnan/gdt3m@aure [Option ID = 5681]

22) According to Sisir Kumar Das, which of these does the ‘history’ of Comparative Literature in India begin with?

IR BAR SRI D IIGRIR HRA I delollcdd AT DI "sfererT forgorfer¥aa 3 2 Rprd> a1er 31391 g3m ?

[Question ID = 1422][Question Description = S2_qSNz_PG_CLR_Q32]

1. The Bhakti movement/afep sticictor [Option ID = 5685]

2. The use of multiple languages in Kalidasa’s plays/®iieicRI @ siicl 9 ggsmitid geiist [Option ID = 5686]

3. The setting up of the first university department of Comparative Literature/qclolicate mfaer @ yewpt frafiencrft fsmst 6t Femuer [Option 1D = 5687]
4. The setting up of the first three universities in India/sma 3 gewer dior feafdencril <t Femuon [Option ID = 5688]

Correct Answer :-
e The Bhakti movement/a1ftp siicletor [Option ID = 5685]

23) Who is the author of the 1959 essay, “Comparative Literature in India”?
1959 3 fera 1w forder , "sRA 3 gelolica® A3 " @ cRAP Dot A ?

[Question ID = 1423][Question Description = S2_qSNz_PG_CLR_Q33]
1. Rabindranath Tagore/zdtegamer dsiz [Option ID = 5689]

2. Buddhadeva Bose/ggca drt [Option ID = 5690]

3. Munshi Premchand/#gft gerass [Option ID = 5691]

4. K. R.S. lyengar/@3muasrisr [Option ID = 5692]

Correct Answer :-
e Rabindranath Tagore/3dlsgatrer sz [Option ID = 5689]

24) Which of the following was suggested by Rabindranath Tagore as an alternative name for Comparative Literature?

qcTollcA® AMBRI D dDICUD ol D WU 3 Idlogelrd IR GRI forvotfeiiRad 3 A fdparmr Jeia fSar srm ar ?
[Question ID = 1424][Question Description = S2_qSNz_PG_CLR_Q34]

1. Jatiya sahitya/sudtr 2nfder [Option ID = 5693]

2. Sahitya/anfaer [Option ID = 5694]

3. Tulnatmak sahitya/qetenee 2nfder [Option ID = 5695]
4. Visvasahitya/fasaznfaer [Option ID = 5696]

Correct Answer :-
e Jatiya sahitya/siRr 2nféer [Option ID = 5693]

25) Which of the following historical processes does Mary Louise Pratt’s essay, written in response to the Bernheimer
Report, hold responsible for changing the way literature and culture were conceived and studied in the academy?

A. Neo-colonialism
B. Globalisation

C. Democratisation
D. Decolonisation

Choose the correct answer from the options given below:

JolaaR Yferdcel d gAeR 3 ferd s1e 331 oz g @ forder 3 srprcdl 3 Afdea oiiR Ivapfal @ sieriel @ feru farnfea adiad> ol uf¥afda ot
@ feru forvarfeRaa 3 A1 e YfereRies gfdgrn ol SReRIl s8R sk 3 ?

A. sra-3uforderarg

B. decdiaror

C. cidbddiaor

D . f& -sfiuforaefiasur

i) feu sru fareseal 3 A A Ia= ol ¢

[Question ID = 1425][Question Description = S2_qSNz_PG_CLR_Q35]



1. A, Band Conly/a@aa A, B iz C

[Option ID = 5697]
2. A, Cand D only/daet A, C sz D

[Option ID = 5698]
3. B, Cand D only/dae B, C sz D

[Option ID = 5699]
4. A, B and D only/@aa A, B siiz D

[Option ID = 5700]

Correct Answer :-

e A BandConly/@ac A, Bsiz C
[Option ID = 5697]

26) Which of the following is implied by the recommendations of the Levin Commission?
A. Comparative Literature should be offered by all universities

B. Comparative Literature should not be offered by all universities

C. Comparative Literature should assume an interdepartmental form

D. literary works from remote languages should not be studied in translation

Choose the correct answer from the options given below:

ciferel 31RIIeT Y srefersll 3 forForfer3aa d A ar-a=m foifder 3 ?

A. it Rreafdencril 3 geroncae wfdca frerr o wfde

B. 1l frafdencril 3 geroncae A3 fae ol o anfde

C. qeelcas® A3 oI WU 3id: ek don aifde

D. Jgz sirunsii bt mf3feares Feremsii @ sigpare 3 sieRI6l o181 dloll anfdw

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 1426][Question Description = S2_qSNz_PG_CLR_Q36]
1. Aand B only/dact A sz B

[Option ID = 5701]
2. Band C only/dact B iz C

[Option ID = 5702]
3. Aand Conly/aaa A siiz C

[Option ID = 5703]
4. Cand D only/@aet C sk D

[Option ID = 5704]
Correct Answer :-
e Aand B only/@act A 3sik B
[Option ID = 5701]

27) What is the national association of Comparative Literature in India called?

HRA 3 dclollcdd A DI AR TAIRITIGT DI a=IT sl Sl 3 7

[Question ID = 1427][Question Description = S2_qSNz_PG_CLR_Q37]

Indian National Comparative Literature Association/sidikr et qetolicaied 2facr vAiRmoret [Option ID = 5705]
Comparative Indian Literature Association/qeteic® il 2mféer wiiBmor [Option ID = 5706]

Comparative Literature Association of India/semza &t qeforicars mfaer weiBerer [Option ID = 5707]

Indian Comparative Literature Association/smdtr getoiicore 2nfder waliworet [Option ID = 5708]

A W N -

Correct Answer :-

e |ndian National Comparative Literature Association/smcfir mcir getonicored 2nfder vt [Option ID = 5705]

28) Which of these languages is taken up for study under ‘Other Indian Languages’ by K M George in his Comparative
Indian Literature (1985)?



D.GIASISE GIRI Uil a6l wauRfed gf3wa feredar ( 1985) 3 'siowr siedi simemsil o sicefd st @ fore forvarfciRaa 3t 31 fipar s @1
ferm sRm 3 ?

[Question ID = 1428][Question Description = S2_qSNz_PG_CLR_Q38]
Bodo/asY [Option ID = 5709]

Sindhi/Rreedt [Option ID = 5710]

Lepcha/emar [Option ID = 5711]

Dogri/seit [Option ID = 5712]

AW N =

Correct Answer :-
e Bodo/asY [Option ID = 5709]

29) With which of the following can translators who claim they want to make the author speak the way he would have
spoken had he written the work in the Target Language be identified most easily?

A. Moving the author to the reader
B. Moving the reader to the author
C. Intermedial translation

D. Domestication

Choose the correct answer from the options given below:

I8 SIAl Dol dIcl eldIGdl ®I , b d TRa™ A 3IA YDR Feldlell UL & oIl a6 ¢IgA $IHT 3 ferRdaol UR dicrar , foatfeiRaa 3 1 b e
Haifirs FRrcaagds SisT St Ao 3 7

A. Ta® @I UIs® D URI o SIlell
B. urow @I cRa® @ URI o Sliell
C. siazacdil sigarc

D. Zefimzur

oiiI feu are fawedl 3 A A8l IR ol ©

[Question ID = 1429][Question Description = S2_qSNz_PG_CLR_Q39]
1. A and B only/dact A siiz B

[Option ID = 5713]
2. Band C only/@act B siiz C

[Option ID = 5714]
3. Cand D only/aaet C ik D

[Option ID = 5715]
4. Aand D only/ddct A siiz D

[Option ID = 5716]

Correct Answer :-
e A and B only/dbaer A 3iiz B

[Option ID = 5713]

30) Which of these does Dryden recommend vis-a-vis translation?

A. A translator should be a nice critic in his own language before he undertakes to translate a foreign literature
B. To be a thorough translator, one must be a thorough poet

C. One should never try to translate from one medium into another

D. One should try to focus on exotropic translation more than on endotropic translation

Choose the correct answer from the options given below:

3odIc @ A« I 5ol forvoiferRaa 3 A dlol Diot Al IIGIRI Bl 8 ?

A. o2t faSoft simon 3 sro1arc T BRI B1er 3 ot A yd 3olarcd Y ol 1Uoit o1 3f U Jacdiol el Sloll aIfde
B. v w1eyui siarc® ol @ fore v Fegul oofd e aifde

C. U HA1eA A SR ARAA I AGIAIS DI YJARI DIt o181 Dol aIfde

D. sicgfxdt sigparc 6 sriem afdgdl siglare ur Bfoga wel BT YART Bl aifde



offc feu aru el 3 2 A3l 3= ol ¢

[Question ID = 1430][Question Description = S2_qSNz_PG_CLR_Q40]
1. A and B only/d>aet A iz B

[Option ID = 5717]
2. Band C only/@aet B aiiz C

[Option ID = 5718]
3. Cand D only/aaet C sfiz D

[Option ID = 5719]
4. A and D only/@aet Asiiz D

[Option ID = 5720]
Correct Answer :-
® A and B only/dbact A siz B
[Option ID = 5717]

31) In which of these is the Lepcha language primarily used?
A. Sikkim

B. Andhra Pradesh

C. Uttar Pradesh

D. West Bengal

Choose the correct answer from the options given below:

Soldl A Dl -8l AUAT HIT FIRIAAT YRII3T bl Siredt 3 ?

A. Baferoa
B. smroe] ggor
C. 3= ggor
D. uf2mar ssmer

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 1431][Question Description = S2_qSNz_PG_CLR_Q41]
1. Aand B only/dact A sz B

[Option ID = 5721]
2. Aand C only/daer A siiz C

[Option ID = 5722]
3. Band C only/daa B siiz C

[Option ID = 5723]
4. Aand D only/@ac A ik D

[Option ID = 5724]
Correct Answer :-
e Aand B only/@aet A 3sik B
[Option ID = 5721]

32) Which of these is used most extensively by Arif Ayaz Parrey and Wasim Helal in their graphic narrative adaptation of
Manto’s “Dog of Tetwal”?

MG Carsl U3 iz aif¥yat Seiret of el @ ‘dddicd @ agd’ @ 3ol SPBIA gedid WuidR I forsorferl¥aa 3 24 fopaaam1 yRileT fopanr 3 ?

[Question ID = 1432][Question Description = S2_qSNz_PG_CLR_Q42]
1. Mirroring technique/gdur awsfias [Option ID = 5725]

2. Diagetic narrative/@erca® ( grifer) gaia [Option ID = 5726]

3. Voice overs/3udt siam ( arri i@z ) [Option ID = 5727]

4. Use of chorus/smrRI® gog @1 gzt [Option ID = 5728]

Correct Answer :-



® Mirroring technique/gtur awofles [Option ID = 5725]

33) Which of the following does the concept of an ‘Indian Nepali literature’ imply?

A. Languages are shared among multiple states in South Asia

B. Literature may be written in the same language but belong to multiple states in South Asia
C. Poetry is written in Nepali language

D. Poetry is not written in India

Choose the correct answer from the options given below:

' sl Sturcht afdcr ' &bl sraemrun A forgeiferRaa i A o= eafora axar 3 ?

A. cfgror efdrn 3 eoiftre Soff & S s e 3

B. w1fdc uas & s 3 ferzen @1 Al 8 URoq Sidvn i 3 goiftes Soil A Adfer 8 Awar 3
C. oferer orurcht simar 3 fordl wiret 3

D. sra 3 ofden ol ferxdl sreft 3

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1433][Question Description = S2_qSNz_PG_CLR_Q43]
1. Aand B only/@act A siiz B

[Option ID = 5729]
2. Cand D only/daet C siiz D

[Option ID = 5730]
3. Band D only/@act B siiz D

[Option ID = 5731]
4. Aand D only/dae A sik D

[Option ID = 5732]

Correct Answer :-
® Aand B only/d@act A 3i B

[Option ID = 5729]

34) Which of the following applies to Itamar Even-Zohar’s stance on translation?

A. Literary polysystem does not include translated works

B. Scholars of translation should go beyond the question of equivalence

C. Literary polysystem does not include masterpieces

D. Scholars of translation should study the translated text in the context of the target polysystem

Choose the correct answer from the options given below:

3[oldIc @ Adel I SANR sdrel ~5ile2 Dl Al ur foroiferRaa 3 A a=u sy 8 3 ?

A. mf¥fears agyunedt 3 seifda et onfirer ordl &

B. sro1drc @ fAGIell I JAATGIAT D Yool A IS Siloll A3

C. wfdfears agyunelt 3 Jcomicr onfirer o1dl &

D. smolarc @ fagreil @l afdia sgyuiell @ ecs dseifea ure oI s1erIol el aifde

i) feu sru farseal 3 A A Ia= gol ¢

[Question ID = 1434][Question Description = S2_qSNz_PG_CLR_Q44]
1. Aand B only/dact A siiz B

[Option ID = 5733]
2. Cand D only/dae C siiz D



[Option ID = 5734]
3. B and D only/dact B 3iiz D

[Option ID = 5735]
4. A and D only/@aet A siiz D

[Option ID = 5736]
Correct Answer :-
e A and B only/@act A stz B
[Option ID = 5733]

35) Which was the Moliere text that inspired Girishchandra Ghosh to write his play, Jyaisa ka Tyaisa?

Jiferz &1 g ®la Al a6t off fRTor BRIYKIG #1Y DI UGl olicd si11 B 271 ferael @ fere YR fopa ?

[Question ID = 1435][Question Description = S2_qSNz_PG_CLR_Q45]
1. Le médecin volant/cn 3f3f31e1 dictial Le médecin volant

[Option ID = 5737]
2. L'’Amour médecin/er smme afsBor L'’Amour médecin

[Option ID = 5738]
3. Le Bourgeois Gentilhomme /e g3f3n Siffiedlsl  Le Bourgeois Gentilhomme

[Option ID = 5739]
4. Le Docteur amoureux/<n Stacz s@Riaa Le Docteur amoureux

[Option ID = 5740]

Correct Answer :-
® [ e médecin volant/«n af3Bror dietical Le médecin volant

[Option ID = 5737]

36) Which of these is an appropriate example of rewriting in a diachronic frame?

forgoiferRaa 3 3 TR DICIRfID B, A Yolckdel DI IURTD 3GI8VT & 7

[Question ID = 1436][Question Description = S2_qSNz_PG_CLR_Q46]

. Kathasaritsagar and Thomas Mann’s Transposed Heads/dwerafsazimer aiiz et ot 6t ciemlers 3z [Option ID = 5741]
. Superman and Batman/Judtet vs dedlel [Option ID = 5742]

. Iliad and Ramayana/sférrs 3iiz @RI [Option ID = 5743]

. Macbeth and Hamlet/d®d2 3 3atcle [Option ID = 5744]

AW N =

Correct Answer :-
® Kathasaritsagar and Thomas Mann’s Transposed Heads/denaif3azier siiz et ol 6t cimlers 3321 [Option ID = 5741]

37) Which of these is predicated primarily upon the search for influences?

forgatferRaa 3i 3 Plat PR Yol 6 st I forerifya et 3

[Question ID = 1437][Question Description = S2_qSNz_PG_CLR_Q47]
. French school/wif3rit faruerr [Option ID = 5745]

. American school/ 3Rl faruafer [Option ID = 5746]

. Latin American school/enferer sERlch! fraruafer [Option ID = 5747]

. German school/swfer farar werfer [Option ID = 5748]

A W N -

Correct Answer :-
® French school/wiR3rft famruerfer [Option ID = 5745]

38) Arrange the following books chronologically in terms of their first publication:
A. Wellek and Warren’s Theory of Literature

B. Susan Bassnett’s Comparative Literature: A Critical Introduction

C. Amiya Dev’s The Idea of Comparative Literature in India

D. Douwe W Fokkema’s Issues in General and Comparative Literature

Choose the correct answer from the options given below

forgaiferRaa gaaml ®l oI YU DIl @ PICIRIRRIR Iai¥erd ohifse:
A. Icci 3iir arel &t w1 sif e



B. 33161 S0t Bt BwaRfeq fercar : v fpfeaet sgIsasra
C. 3af¥rm a &bt ¢ sgfeen sifw waRfea foredar sa si3=n
D. s1»a soc] BIDAHT DI $9Y6T Fol Sloleel TS DFRAed fercarr

il fou s1e fyaseul 9 31 & 3a= goi ¢
[Question ID = 1438][Question Description = S2_qSNz_PG_CLR_Q48]

1. A, B, C, D [Option ID = 5749]
2. B, A, D, C [Option ID = 5750]
3. A, C, D, B[Option ID = 5751]
4. D, A, C, B [Option ID = 5752]

Correct Answer :-
e A B, C, D[Option ID = 5749]

39) Identify the correct sequence of the composition of the following works:
A. Chaucer’s Canterbury Tales

B. Boccaccio’s Decameron

C. Cervantes’ Don Quixote

D. Daniel Defoe’s Robinson Crusoe

Choose the correct answer from the options given below

forgotferRaa mferil b el @ Il srcima b usarer Hifse
A. IR &l Deagdl e

B. diofRmsil &t SRt

C. waifoart &l Sfor Rraadie

D .3forrer 3wl &bl Afdcdor @ Al

il fou a1e fraseul 9 A W& 3= goi ¢
[Question ID = 1439][Question Description = S2_qSNz_PG_CLR_Q49]

D, C [Option ID = 5753]
B, D [Option ID = 5754]
A, C [Option ID = 5755]
C, D [Option ID = 5756]

A w N -

Correct Answer :-
e A B, D, C[Option ID = 5753]

40) Match List | with List Il

List |

List Il

(Text)

(Adapted by)

A. Sophocles’ Antigone

|. Gerard Depardieu

B. Boccaccio’s Decameron

Il. Sophie Deraspe

C. Shakespeare's Macbeth

I1l. Justin Kurzel

D. Moliere’s Tartuffe

IV. Pier Paolo Pasolini

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -

il

TN

(gzeaD) (SRI JUTART )
A. IMplactist &t efesifor |.3118 SurRfey,
B.dlikRrI &bt SaARIo 11,3061 S

C. diqAftrz &I dAdde |l.s1R<ar asier

D. smferr &I adus

V. frR gsicl uAdiifersi

ofla fou o1 frpeul 3 3 A IR gforw ©
[Question ID = 1440][Question Description = S2_qSNz_PG_CLR_Q50]

1. A-1l,B-1v, C-IlIl, D -1 [Option ID = 5757]
2. A-1lIl,B-1I,C-1,D-1IV[Option ID = 5758]



3. A-I,B-1ll, C-1V, D -1l [Option ID = 5759]
4. A-1V,B-1,C-1l,D-lll [Option ID = 5760]

Correct Answer :-

e A-Il,B-1IV,C-1ll,D-I[Option ID = 5757]

41) Which domain of French tradition of Comparative Literature can be related to Jean Marc Moura’s work on “third world”
in French contemporary literature?

dctelicA® A3 bl BIRRI wRusr & e &g @1 Wikl s Afdc 3 suf s sl &I "diwrdl gforn’ Fdell ¥a6n A SiisT S JImar 3 ?

[Question ID = 1441][Question Description = S2_qSNz_PG_CLR_Q51]
1. Myth Studies/ etk siezrror [Option ID = 5761]

2. Image Studies/yferfdFa siezrror [Option ID = 5762]

3. Reception Studies/sgur sterror [Option ID = 5763]

4. Analogy Studies/smReudr siezrRiel [Option ID = 5764]

Correct Answer :-
® Myth Studies/frerbir srerrror [Option ID = 5761]

42) Which phase of love is associated with the flower mullai?

Tl gou d5 AT YJH DT Blol AT IR Adg 3 ?

[Question ID = 1442][Question Description = S2_qSNz_PG_CLR_Q52]
1. Lovers' Union/9f3ril @1 frctar [Option ID = 5765]

2. Lover's Unfaithfulness/gféril &1 dawrs [Option ID = 5766]

3. Patient waiting/«fizst @ amer yeftem [Option ID = 5767]

4. Separation/frier [Option ID = 5768]

Correct Answer :-

e Lovers' Union/9fdri @t firetor [Option ID = 5765]

43) Which genre was popularized by Ezhuthachan’s Adhyatma Ramayana in Malayalam Literature?
JICRITCIA AT I TS DI EAIcH IARMVI SR Diot 2l et el 53 ?

[Question ID = 1443][Question Description = S2_qSNz_PG_CLR_Q53]
1. Kilippattu/féseug [Option ID = 5769]

2. Attakatha/sraen [Option ID = 5770]

3. Thullakkatha/gectaaen [Option ID = 5771]

4. Krishnagatha/@wrener [Option ID = 5772]

Correct Answer :-

e Kilippattu/feseug [Option ID = 5769]

44) Who among the following was the first Nobel laureate in literature from Latin America?
forgsiferRae 31 2 cnferel spRi®I A AR D1 Y2 sildac YSIPR ST dlot ar ?

[Question ID = 1444][Question Description = S2_qSNz_PG_CLR_Q54]

Pablo Neruda/ureei aiser [Option ID = 5773]

Gabriel Garcia Marquez/3ifziet suf3fen sibisr [Option ID = 5774]
Octavio Paz/sifeferr urst [Option ID = 5775]

Gabriela Mistral/sifgren et [Option ID = 5776]

A W N -

Correct Answer :-

e Pablo Neruda/ursh aiwer [Option ID = 5773]

45) Who wrote the essay “The Translators of the Thousand and One Nights”?
" g ciaciced 3w ¢ Ussis Us ad oirse " forder fperol feram e ?

[Question ID = 1445][Question Description = S2_qSNz_PG_CLR_Q55]

Jean Antoine Galland/Si wodisal siceig [Option ID = 5777]
Richard Francis Burton/f¥as wif3rr adet [Option ID = 5778]
Jorge Luis Borges/sist g difstar [Option ID = 5779]

Edgar Allan Poe/uwssr uefet l [Option ID = 5780]

A WN -

Correct Answer :-

e Jean Antoine Galland/sai werdlsar steeig [Option ID = 5777]

46) Which among the following series has used Greek and Roman mythologies extensively?
forgstferlRan 31 21 Rp21 9jc 3 Yool 3i1R 36T URIVIG AT BT RITUD WU A GBI 3311 3 ?



[Question ID = 1446][Question Description = S2_qSNz_PG_CLR_Q56]

Artemis Fowl Series by Eoin Colfer/usiiser @lew2 &t 3rifdrt wiser gact [Option ID = 5781]

Percy Jackson Series by Rick Riordan/f® Ra3iict &t w=ff Siaeier 9zaen [Option ID = 5782]

The Inheritance Cycle by Christopher Paolini/fipciwe wsiiféroft 6t & soafdear asfaser [Option ID = 5783]
Harry Potter Series by J. K. Rowling/at @ Jrssfefor <t 33 dfes gzaen [Option ID = 5784]

A WN =

Correct Answer :-
® Artemis Fowl Series by Eoin Colfer/usiiser wlcw2 &t srifdrt wiser gjaen [Option ID = 5781]

47) Which text among the following has reference to the Iliad?

fogatfeiRan 3 21 Rp21 ofet 3 sfers @1 o0 aren 3 7

[Question ID = 1447][Question Description = S2_qSNz_PG_CLR_Q57]

Derek Walcott’s Omeras/3¥® arcrdle &t siaiRrt [Option ID = 5785]

Margaret Laurence's The Stone Angel/ e emdat &t ¢ cker Toter [Option ID = 5786]

Gunter Grass’s The Tin Drum/3jcz s[R1 &t G feo1 a1 [Option ID = 5787]

Jose Saramago’s The Travellor’s Baggage /S 3#el &1 G gqdectd dalst [Option ID = 5788]

A W N -

Correct Answer :-
e Derek Walcott’s Omeras/33¥® arcidic &t siart [Option ID = 5785]

48) Which of the following is claimed to be the source of the first half of Javanese Ramayana Kakawin?

forgaiferRaa 3 21 b1 @ ar 3 A6 crar 5= Sirer 3 b ag Sirar &l AARIVT BbIidel D YA MBI DI I & ?

[Question ID = 1448][Question Description = S2_qSNz_PG_CLR_Q58]
Ravanavadham/zrasrazsr [Option ID = 5789]

Uttararamacarita/3mertsa [Option ID = 5790]

Anargha Raghava/ store 2raa [Option ID = 5791]

Ramabhyudaya/swgea [Option ID = 5792]

A w N =

Correct Answer :-
® Ravanavadham/3aerazst [Option ID = 5789]

49) What is Bakhar in Marathi Literature?
RIS Aifdea o aFR a= 3 ?

[Question ID = 1449][Question Description = S2_qSNz_PG_CLR_Q59]

1. Novel/3ucmt

[Option ID = 5793]
2. Chronicle of Historical Events/bdfereR acomsii @t ga

[Option ID = 5794]
3. Ballad/smer sfta

[Option ID = 5795]
4. Play/sicwd

[Option ID = 5796]
Correct Answer :-
o Novel/3ucarn

[Option ID = 5793]

50) Which among the following Hindi films is an adaptation of Shakespeare's play Comedy of Errors?

forgstfciiRaa 3 A dlar Hl 2 fbcar daAltRIr @ olicds DiAST 3B T I WuiaR & ?

[Question ID = 1450][Question Description = S2_qSNz_PG_CLR_Q60]

1. Angoor/s@R [Option ID = 5797]

2. Chhoti Si Baat/®Ict 2ft ara [Option ID = 5798]

3. Rang Birangi/3er fazsft [Option ID = 5799]

4. Baton Baton Mein/ardl ardi 3 [Option ID = 5800]

Correct Answer :-
® Angoor/sis [Option ID = 5797]

51) What are the two theories Jauss had used in his essay "Literary History as a Challenge to Literary Theory"?



A. Structuralism

B. Marxism

C. Post - Structuralism
D. Formalism

Choose the correct answer from the options given below:

SileT of sruel forder " ferc¥dt f3EY wet v Akt ¢ ferc¥dt «rst " 3 ot A Q1 Rigidl @1 gier fpan 3 ?
A. JdA¥reiag

B. sra=iac

C. 3a=-3idola

D. situaifyasararg

il feu aru farseal 3 2 Al Ia= goi ¢

[Question ID = 1451][Question Description = S2_qSNz_PG_CLR_Q61]
1. Aand B only/@act A siiz B

[Option ID = 5801]
2. B and D only/@act B siiz D

[Option ID = 5802]
3. Aand Conly/@act A sz C

[Option ID = 5803]
4. Cand D only/dae C iz D

[Option ID = 5804]

Correct Answer :-
e A and B only/dbaet A 3iiz B

[Option ID = 5801]

52) Which among the following are texts written by Vishnudas of Gwalior?
A. Svargarohan

B. Pandav-Carit

C. Narasardula

D. Hammiramahakavya

Choose the correct answer from the options given below:

forgaiferRaa 3 A1 vt iRl B Faer saiferR & fasvlerT o & 3 ?

A. Fasiidsur
B. uisa-af¥a

C. sr¥dgenn
D .zstizasImT

oif<l feu are fameal 3 A Al I= ol ©

[Question ID = 1452][Question Description = S2_qSNz_PG_CLR_Q62]
1. A and B only/dact A siiz B

[Option ID = 5805]
2. B and C only/@act B siiz C

[Option ID = 5806]
3. Cand D only/@qa C 3ik D

[Option ID = 5807]
4. Aand D only/ddct A siiz D

[Option ID = 5808]



Correct Answer :-
e Aand B only/dact A 3iz B

[Option ID = 5805]

53) Who among the following have been named as patrons of Comparative Literature in Saussy Report
A. Madame de Stael

B. Jonathan Swift

C. Voltaire

D. Hugo Meltzl

Choose the correct answer from the options given below:

Arfl Ralé 3 fowrefeiRan 3 A Reoid! gelolicde AR D AHgIP D w4 I ofdr v srm 3 ?

A. HcH § Fda
B. Siieiierer Rauc
C. dicieizR

D. gl dcasa

i) feu aru faeeal 3 A Al Ia= ol ¢

[Question ID = 1453][Question Description = S2_qSNz_PG_CLR_Q63]
1. Aand D only/ddet A 3iiz D

[Option ID = 5809]
2. Band C only/@act B siiz C

[Option ID = 5810]
3. Band D only/daet B sz D

[Option ID = 5811]
4. Aand C only/ddct A iz C

[Option ID = 5812]

Correct Answer :-
e A and D only/d@act A siiz D

[Option ID = 5809]

54) Who among the following authors have adopted Shakespeare's The Tempest ?
A. Aime Cesaire

B. Jean Paul Sartre

C. Margaret Atwood

D. Thomas Mann

Choose the correct answer from the options given below:

forgatfeiiRaa caml 3 A foHel daAltRIR @ dlicd ¢ SFdIe I FWuiar fooer 8 ?

A.ua RBroiR

B. weri ifer &,

C. Pk wegs

D. eifar ror

oif<l feu aru faedl 3 2 A3l = ol ¢

[Question ID = 1454][Question Description = S2_qSNz_PG_CLR_Q64]
1. Band D only/dqct B sfic D



[Option ID = 5813]
2. Aand B only/dact A 3iiz B

[Option ID = 5814]
3. Band C only/@aet B sz C

[Option ID = 5815]
4. Aand C only/ddet A iz C

[Option ID = 5816]
Correct Answer :-
e B and D only/@act B sfiz D
[Option ID = 5813]

55) Beside Goethe, which among the following had discussed about world literature?
A. Friedrich Schlegel

B. Immanuel Kant

C. Johann Gottfried Herder

D. Denis Diderot

Choose the correct answer from the options given below:

a1 @ siferfys forgaiferRBaa 3t A fobar- fopar of fara Afdca & an A aaf H 3 ?

A. Bsfraedera
B.sdep3rct aict

C. Sifel sMcBRIS 362
D.3fort 3t

oii<l feu are fameal 3 A At Ia= ol ©

[Question ID = 1455][Question Description = S2_qSNz_PG_CLR_Q65]
1. Aand C only/ddcr A iz C

[Option ID = 5817]
2. B and D only/@act B 3iiz D

[Option ID = 5818]
3. Cand D only/@qa C siz D

[Option ID = 5819]
4. B and C only/a@aet B sz C

[Option ID = 5820]
Correct Answer :-
e Aand C only/aact A siiz C
[Option ID = 5817]

56) Match List | with List Il

List | List Il

(Book) (Author)

A. Candayan I. Mir Sayyid Manjhan

B. Mirigavati Il. Maulana Daud

C. Padmavat Ill. Qutban

D. Madhumalati IV. Malik Muhammad Jayasi

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et - el -1l

( gza® ) ( o )

A atoceil 1. itz Seag sistor




B. frfsrmacil Il. siictron Sig

C. ucarad Ill. @esor

D. sregaareredi IV. sferd geadic SRR
sifa feu o1e faweul 3 A At 372 gforw ©

[Question ID = 1456][Question Description = S2_qSNz_PG_CLR_Q66]

A-1ll,B-1V, C-1,D - Il [Option ID = 5821]
A-1ll,B-1,C-1l,D- IV [Option ID = 5822]
A-11,B -1, C-1V, D - | [Option ID = 5823]
A-1V,B-1,C-II,D-lll [Option ID = 5824]

A WN -

Correct Answer :-
o A-IlIl,B-1IV,C-1,D- Il [Option ID = 5821]

57) Match List | with List Il

List | List Il

(Book) (Author)

A. Coir I. Kamala Das

B. My Grandfather Had an Elephant |ll. Gulvadi Venkata Rao

C. Indira Bai lll. T. S. Pillai

D. My Story IV. Vaikom Muhammad Basheer

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et 11

( gerep ) ( oD )

A. DRR |. wac gra

B. sIRI 3]SWIG2 33 Uol Uellbe Il. speradt dawe Ia

C. $iear ard IIl. & . o1 . freers
D. #IRI 3L IV. aroIa Feaaac aoilz

oifa feu aru fasedl 3 A 8 3R gforu :
[Question ID = 1457][Question Description = S2_qSNz_PG_CLR_Q67]

A-11,B-1,C-1V, D - Il [Option ID = 5825]
A-1lI,B-1V, C-1,D - Il [Option ID = 5826]
A-11,B-1I, C-1V, D - [Option ID = 5827]
A-1ll,B-1V, C-1l, D - | [Option ID = 5828]

A w N =

Correct Answer :-
e A-Il,B-1,C-1V,D-IlIl [Option ID = 5825]

58) Match List | with List I

List | List Il

A. Motif I. Blackness
B. Situation Il. Phaedra

C. Topos Ill. Reverence
D. Situational Theme IV. Envy

Choose the correct answer from the options given below:

et -1 B e -1l A e i

et -1 et -l

A. sifSrgrr | sr1fera

B. ufsf¥erfer Il. w31 Phaedra
C. Ferctrofaya ( AXST ) 1. 9xgr

D. afef¥erfer smenfya foroer V. Swai

oif<l feu are famedl 3 A A8 3R gfore :

[Question ID = 1458][Question Description = S2_qSNz_PG_CLR_Q68]
1. A-1,B-1I,C-1V,D-1

[Option ID = 5829]
2. A-lIlLB-1IV,C-1,D-1l

[Option ID = 5830]
3. A-1L,B-1,C-IV,D- 1l



[Option ID = 5831]
4. A-IV,B-1,C-1l,D-1ll

[Option ID = 5832]

Correct Answer :-
e A-I,B-IIl,C-1V,D-1I

[Option ID = 5829]

59) Arrange chronologically the following authors
A. Moliere

B. Plautus

C. Aristophanes

D. Oscar Wilde

Choose the correct answer from the options given below

fogstferRaa ! B BICTGAGRIR Raf¥erd bifse
A. sferny

B. wilga

C. sfs>diwofist

D. sifvm? ases

il feu aru fareseal 3 21 A Ia= goi ¢

[Question ID = 1459][Question Description = S2_qSNz_PG_CLR_Q69]
1. D, A, B, C

[Option ID = 5833]
2. C,B,A D

[Option ID = 5834]
3. B,A, D, B

[Option ID = 5835]
4. D,C, B, A

[Option ID = 5836]

Correct Answer :-
e D A B, C

[Option ID = 5833]

60) Arrange the following texts chronologically according to the publication dates -
A. Sula

B. Mrs. Dalloway

C. Wide Sargasso Sea

D. Jane Eyre

Choose the correct answer from the options given below

forgoiferRad gaawml @l Ioid YpI9re fAfRRRIT & DIcTRAeRIR Rdi¥ed bifsie

A. Jerr

B. faif¥rst stena

C. arss errRTl AHi

D. Siot 3R

oiil feu are faaeal 3 A At IR ol ©

[Question ID = 1460][Question Description = S2_qSNz_PG_CLR_Q70]
1. B,C,A,D

[Option ID = 5837]



2. D,B,C, A

[Option ID = 5838]
3. C,A,B,D

[Option ID = 5839]
4. A, C,B,D

[Option ID = 5840]

Correct Answer :-
e B,C,A, D

[Option ID = 5837]

61) Arrange the following texts chronologically according to the publication dates -
A. Kaghazi Hai Pairahan

B. Pratham Pratishruti

C. Agnisakshi

D. Pinjar

Choose the correct answer from the options given below
forgaiferRaa graml @l Ioid YpI9re fAIRRIT & DIcTReRIR Rdaized bifsie

A. @Ersl & desor
B. gear yrgfa
C. sfdorameft

D. fior

oif< feu are faeal 3 A A3l = ol ¢

[Question ID = 1461][Question Description = S2_qSNz_PG_CLR_Q71]
1. D,B,C, A

[Option ID = 5841]
2. C, A, B,D

[Option ID = 5842]
3.B,D,C A

[Option ID = 5843]
4. A, C,B,D

[Option ID = 5844]

Correct Answer :-
e D,B,C, A

[Option ID = 5841]

62) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There cannot be a uniform periodisation model for Indian language - literatures.
Reason R: Multilingualism and multiregionalism prevent a harmonious synchrony or diachrony.

In light of the above statements, choose the correct answer from the options given below

il St werol iRu s1e 3 wap @t siftrperet (A) 3iiR g3 @) aas (R) @ar srm 3

sifdrperet (A) © HReR HIr AMfdea @ fe1e DIS v AHIol [aferavr dise ol 8 Addr &
a® (R) : agvrarc iR SgeiaIc ARSI AADIIDAI 3feral YfersIRpdr dl Add 3
IR PGl D 3AIeliD i forotifcpa fameal 3 A A8 IR ol ©

[Question ID = 1462][Question Description = S2_qSNz_PG_CLR_Q72]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlsil 3@t 2 3z (R), (A) &t 3d sareen & [Option ID = 5845]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) clail 3@t & uzsq (R), (A) 6t 38 wmezn oidt 8 [Option ID = 5846]
3. Ais true but R is false/(A) 3@t 2 wog (R) a& aidt & [Option ID = 5847]

4. Ais false but R is true/(A) 3@l oidl @ w3oq (R) &t & [Option ID = 5848]



Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 3@t iz (R), (A) &t 3 =me=n & [Option ID = 5845]

63) Which part of India do the stories of Temsula Ao primarily focus on?
MR D DBlol A ASA A AR AT UZ FITRIA: B drcll BaIforil BT JHelol BT 3

[Question ID = 1463][Question Description = S2_qSNz_PG_CLR_Q73]
1. Manipur/afogz [Option ID = 5849]

2. Nagaland/amenets [Option ID = 5850]

3. Tripura/fegar [Option ID = 5851]

4. Assam/srw1 [Option ID = 5852]

Correct Answer :-
e Manipur/afogz [Option ID = 5849]

64) Who, among the following, recently brought the writings of Sarala Devi to the foreground by editing an anthology of
her writings in English translation called The Lost World of Sarala Devi?

forgaiferRaa 3 21 foptor IRen dt &I Taasii dI arct 8t 3 ¢ ciize acs it A= Sdl B oIET A 3i8)GHl 3gae GRI Jorbl BfcRIl & UsfE BT
AUSd DID EPHIET ad of ART ?

[Question ID = 1464][Question Description = S2_qSNz_PG_CLR_Q74]

1. Sachidananda Mohanty/if¢asrsic aitédt [Option ID = 5853]

2. Jatindra Kumar Nayak/sifeig @ oirras [Option ID = 5854]

3. Himanshu Sekhar Mohapatra/f#ig] 9raz dlsuigr [Option ID = 5855]
4. Animesh Mohapatra/siforter sitgurgr [Option ID = 5856]

Correct Answer :-
e Sachidananda Mohanty/afeacreic aiigdt [Option ID = 5853]

65) To which country did Bertolt Brecht acknowledge his debt for The Caucasian Chalk Circle?

DIDIIRIGT ADB ADl UaI SBUT 6 o1 BI dctce dac of e fern

[Question ID = 1465][Question Description = S2_qSNz_PG_CLR_Q75]
1. India/sma [Option ID = 5857]

2. China/<fter [Option ID = 5858]

3. Japan/smumet [Option ID = 5859]

4. Sri Lanka/gficier [Option ID = 5860]

Correct Answer :-
e |India/ema [Option ID = 5857]

66) Who, among the following, are writers who wrote primarily in Urdu?
A. Amrita Pritam

B. Ismat Chugtai

C. Bhisham Sahni

D. Kaifi Azmi

Choose the correct answer from the options given below:

forgotferfiaa 3 A wiat A VA craw® & Rreslel Fxa: 3¢ 3 craol o 3 ?

A srger giaa

B.s¥ara gorars

C.sffear amofl

D .31 smremit

[Question ID = 1466][Question Description = S2_qSNz_PG_CLR_Q76]

1. Aand B/A aiz B [Option ID = 5861]
2. Band D/B siz D [Option ID = 5862]
3. Aand C/A siiz C [Option ID = 5863]
4. Cand D/C aiiz D [Option ID = 5864]

Correct Answer :-
e AandB/A siiz B [Option ID = 5861]

67) Who, among the following, are associated with Bangla Dalit literature?



A. Sunil Gangopadhyay
B. Kalyani Thakur

C. Manju Bala

D. Omprakash Valmiki

Choose the correct answer from the options given below:

forgsiferae 31 3 Plel dotenr cfera Afaea A Fwida 3 ?

A Jofie sienurerr

B.@cvil orage

C.3ig] aren

D.s@rgeter aifesrdbt

[Question ID = 1467][Question Description = S2_qSNz_PG_CLR_Q77]

A and B/A siiz B [Option ID = 5865]
Aand C/A sz C [Option ID = 5866]
B and C/B aiiz C [Option ID = 5867]
B and D/B aitz D [Option ID = 5868]

A wWwN -

Correct Answer :-
e Aand B/A siiz B [Option ID = 5865]

68) Match List | with List Il

List | List Il

(Story) (Author)

A. “Peshawar Express” I. Bibhutibhusan Bandyopadhyay|
B.“We Have Arrived in Amritsar” |ll. Rajinder Singh Bedi

C. “Lajwanti” lll. Krishan Chander

D. “Acharya Kripalani Colony”  [IV. Bhisham Sahni

Choose the correct answer from the options given below:

et -1 B e -1l A e Hife

oxcht -1 (aroft ) et -1l (G )
A."gerra? gaagA " |. Rrsiferszror  Sicure=irr
B."dt 3a wares 3ol sFaR " 1. 2fSicz iz adt

C. "cirstdoddt " ll.qpvat @ice

D . "sirarRi @uetroil wiclisit IV.sffear 18011

oiil fSu aru famedl 3 A A8 3R gfore :

[Question ID = 1468][Question Description = S2_qSNz_PG_CLR_Q78]
A-1,B-1l,C-1ll,D- IV [Option ID = 5869]
A-1l,B-1ll,C-1V,D -1 [Option ID = 5870]

1.
2.

3. A-1ll,B-1V,C-1I, D- | [Option ID = 5871]
4. A-IV,B-1Il,C-1,D - Il [Option ID = 5872]

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 5869]

69) Match List | with List Il

List | List 11

(Book) (Author)

IA. The Weave of My Life I. Baby Kamble
B. A Life Less Ordinary Il. Kamala Das
C. My Story Ill. Urmila Pawar
D. The Prisons we Broke IV. Baby Halder

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifse :

et -1 (g ) et -1l (G )
A.g diq sifs ART ars®G |9l wrFact
B.T cisw oA 3nfSorst ||.a>aren g




C.3RT 38t 1ll.3R3fem uare
D.g fsra &t i IV.q¢ ge1s2
oifY feu oru famedl 3 A 8 3R gforu :

[Question ID = 1469][Question Description = S2_qSNz_PG_CLR_Q79]
1. A-1l,B-1I,C-1V,D-1

[Option ID = 5873]
2. A-1,B-1,C-1I,D-1IV

[Option ID = 5874]
3. A-IV,B-1I,C-1,D-1ll

[Option ID = 5875]
4. A-1IL,B-1V,C-11,D-1

[Option ID = 5876]
Correct Answer :-
o A-Il,B-1Ill,C-1IV,D-1I
[Option ID = 5873]

70) Which of the following theorists conceptualised sahitya as the union of sabda and artha ?

forgaiferRaa 3t 2 531 Brgiaarct o ores 3R sief @ el @ wu 3 nfdca & sr@emon &= ?

[Question ID = 1470][Question Description = S2_qSNz_PG_CLR_Q80]
1. Bhartrihari/sifefy

[Option ID = 5877]
2. Bhamaha/smats

[Option ID = 5878]
3. Jagannatha/Serootrer

[Option ID = 5879]
4. Bharata/era

[Option ID = 5880]

Correct Answer :-
e Bhartrihari/ercfste

[Option ID = 5877]

71) Which among the following sets is not related to the philosophy of Sufism

forgotferRaa 31 3 Plet AT APcaT JHIIA B gofor A FFEfRrT o1dl 3

[Question ID = 1471][Question Description = S2_qSNz_PG_CLR_Q81]
1. Ishg-e-majazi, zahir/se® -v -smmst, sufdz [Option ID = 5881]

2. ljtehad, sul-e-qul/ssaesIs ,Jei-u -@et [Option ID = 5882]

3. Batin, ishqg-e-haqiqi/aiferer ,s9% -u -abibt [Option ID = 5883]

4. lIshraq, bagaa/s9oriw,aa®r [Option ID = 5884]

Correct Answer :-
® [shqg-e-majazi, zahir/se® -v -swistl, sufds [Option ID = 5881]

72) Arrange in chronological order
A. Mahadvei Akka

B. Lal Ded

C. Bahina Bai

D. Andal

Choose the correct answer from the options given below:

BICIGHATGRIR B I Iaf¥erd Hifsre ?
A.H1E183 sramt

B.eret 35

C.afgom ar$



D.sistTer
oiid f&u s1u farapeul 3 2 &Y IR BT TR Do
[Question ID = 1472][Question Description = S2_qSNz_PG_CLR_Q82]

D, A, C, B [Option ID = 5885]
A, D, B, C [Option ID = 5886]
B, C, A, D [Option ID = 5887]
D, A, B, C [Option ID = 5888]

A W N -

Correct Answer :-
e D, A C, B [Option ID = 5885]

73) Match List | with List Il

List | List Il

(World Literature Theorists) (Theories)

A. Pascale Casanova I. distant reading

B. Franco Moretti Il. uneven development

C. Warwick Collective Ill. all literature that circulates in the world
D. David Damrosch IV. world republic of letters

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

_rtt -1 ( fera afde feramRe ) oreht -1l ( Rrenie )

A . UT9a el DIRIIGIar |. 53¢ SifSar

B.wic1 it I.3615a01  Sactdiic

C.arfde wafdea Ill.31re1 fere¥er S Arageie ol § acs
D.3fas catod IV.acs frufderes sitw crezt

oifa feu aru famedl 3 A 8 3R gforu :
[Question ID = 1473][Question Description = S2_qSNz_PG_CLR_Q83]

A-1,B-1Il,C-1I,D- IV [Option ID = 5889]
A-1V,B-1,C-1l,D - lll [Option ID = 5890]
A-1I,B-1,C-1I,D- IV [Option ID = 5891]
A-1I,B-11,C-1,D- IV [Option ID = 5892]

A w N =

Correct Answer :-
e A-I,B-1ll,C-Il,D-IV[Option ID = 5889]

74) Which of the following are examples of different styles or “Riti” as proposed by Dandin ?
A. Gaudiya

B. Vaidarbhi
C. Kashmiri
D. Dakhni

Choose the correct answer from the options given below:

forgsiferRae 31 @lot A 3Tl g1 yferurfea fafdroor Aferil srerar Afer @ Igsrur 3 ?
Asiisk

B. 3ol

C.ooaltst

D. <ol

il f3u a1 fraseul 9 A W) IR BT Il HIRdIE ©

[Question ID = 1474][Question Description = S2_qSNz_PG_CLR_Q84]

. Aand C/A gz C [Option ID = 5893]
. Band C/B i C [Option ID = 5894]
. B and D/B aiiz D [Option ID = 5895]
. Aand B/A ai B [Option ID = 5896]

A w N -

Correct Answer :-

e AandC/Asiiz C [Option ID = 5893]

75) Who among the following had composed Tiru Catakam ?
forgarfeiRaa 3 A fors e &t e fdprar o= e ?



[Question ID = 1475][Question Description = S2_qSNz_PG_CLR_Q85]
1. Surdas/3ert [Option ID = 5897]

2. Bhalan/gsetror [Option ID = 5898]

3. Mannika Vasahar/&fsort ais2 [Option ID = 5899]

4. Narayan Tirtha/smrmwr dief [Option ID = 5900]

Correct Answer :-
e Surdas/3erI [Option ID = 5897]

76) Who among the following had introduced the comparison between literature and other arts?

forgsiferRae 31 31 Rpzral M3 3iiR 31631 G el @ Rl & S getoll ®oll YR fopan ?

[Question ID = 1476][Question Description = S2_qSNz_PG_CLR_Q86]
1. Henry Remak/3srt 31 [Option ID = 5901]

2. Paul van Tieghem/dict arer fedr [Option ID = 5902]

3. Peter Szondi/dlez 3siict [Option ID = 5903]

4. H. M. Posnett/uva. wa. dizora [Option ID = 5904]

Correct Answer :-
e Henry Remak/3asit 3 [Option ID = 5901]

77) In which language Gathasaptasati was composed ?

STARTARAC] DI FIoll b1 Hrar 3 g5 ?

[Question ID = 1477][Question Description = S2_qSNz_PG_CLR_Q87]
. Sauraseni Prakrit/3ite3ft graga [Option ID = 5905]

. Magadhi Prakrit/amrdt yraga [Option ID = 5906]

. Paisaci Prakrit/derreft graga [Option ID = 5907]

. Maharastri Prakrit/serred grapa [Option ID = 5908]

A w N =

Correct Answer :-
e Sauraseni Prakrit/3i236l yrapa [Option ID = 5905]

78) Among the following plays by Bhasa which are based on Udayana story ?
A. Avimaraka

B. Pratijnayaugandharayana

C. Dutavakya

D. Svapnavasavadatta

Choose the correct answer from the options given below:

I GRI e forsonferRad oiled 3 A Dol AT Glicd IeIlol Daloll UR menfed 3 ?

A .sifdamra
B.gfersoiriisieRrRvT
C.gaaraa

D .>atraracal

oif<l feu are famedl 3 A Al I= ol ©

[Question ID = 1478][Question Description = S2_qSNz_PG_CLR_Q88]
1. Aand C only/ddct A 3iiz C

[Option ID = 5909]
2. B and D only/@act B 3iiz D

[Option ID = 5910]
3. Aand D only/daet A siiz D

[Option ID = 5911]
4. B and C only/a@aet B sz C

[Option ID = 5912]
Correct Answer :-
e Aand C only/aact A siiz C
[Option ID = 5909]



79) Which of the following are true of qasida as a form ?
A. It is related to qgissa

B. It is Arabic in origin

C. It is a narrative form

D. It has a single meter throughout

Choose the correct answer from the options given below:

forgotferRacd 3 A dlol A dMcr D v wu faemor & diz A8 3 ?

A .15 o= A dfea 3
B.s2rchl 3cufer sra A 88 3

C.u5 fdaRucHes YbR dI 3

D .s21di guiaen gaser ardi 3

offa fou s1o fyepeul 3 21 &l 3a= goi ¢

[Question ID = 1479][Question Description = S2_qSNz_PG_CLR_Q89]
1. Aand B only/dact A siiz B

[Option ID = 5913]
2. B and D only/@act B siiz D

[Option ID = 5914]
3. Aand D only/d@aet A siiz D

[Option ID = 5915]
4. Band C only/addct B sfiz C

[Option ID = 5916]
Correct Answer :-
e A and B only/dbae A 3iiz B
[Option ID = 5913]

80) Match List | with List Il

List | List Il

(Play) (Dramatist)

IA. Madhyama - vyayoga I. Vishakhadatta
B. Mudrarakshasa Il. Bhavabhuti
C. Priyadarsika lll. Bhasa

D. Malatimadhava IV. SriHarsha

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifste ¢

It -1( ofre ) Ryt -1l (cieporR )
A . JTERIAT ~SRITRIIST | Rromca

B . gIqro1g1 1. smrersifer

C. fpiciofmr 1. sr=1

D . sirerctiamera IV. ofteet

ofla fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 1480][Question Description = S2_qSNz_PG_CLR_Q90]

A-1,B-1V,C-1,D- Il [Option ID = 5917]
A-1l,B-1,C-IV,D- Il [Option ID = 5918]
A-1V,B-1ll,C-1l,D- I [Option ID = 5919]
A-IV,B-1,C-1l,D-lll [Option ID = 5920]

A W N -

Correct Answer :-
e A-Il,B-IV,C-1,D-Ill [Option ID = 5917]

81) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A language is but the medium of expression of a people.

Reason R: It is the people who shape the language and give it the impress of their own character and life.



In light of the above statements, choose the correct answer from the options given below:

il €1 erol fu e 31 uep @ sifdraseret (A) 3iiz g2 @t aw (R) @1 srm 3
aifdrperet (A) @ ITHI STol f¥rcAftd T ATERIA 3
am (R) : ST HI9T DI PR d & 3iI= el IRl @ afeq 3ii= Sfiaa &I s/ a3

SRt sl @ 3irclid 3 forFstifcod fameul 3 A 38 = Yo :

[Question ID = 1481][Question Description = S2_qSNz_PG_CLR_Q91]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gieil 3@t 3 32 (R), (A) &t A& =men 8
[Option ID = 5921]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3@t & uzsq (R), (A) 6t 38 ®men oidt & [Option ID = 5922]
. Ais true but R is false/(A) & @ wesq (R) @t o1&t @ [Option ID = 5923]
4. Ais false but R is true/(A) 3@t oidt @ weoq (R) 2@t & [Option ID = 5924]

w

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil &t & 3z (R), (A) 6 218 e 3
[Option ID = 5921]

82) Given below are two statements
Statement I: Literature adds to reality, it does not simply describe it.
Statement II: There is no such thing as literary fashion.

In light of the above statements, choose the most appropriate answer from the options given below:

ofia & erat feu st 3 &
@erol - | : wfdcr aemef o1 aviel s & oidl wear 3, A6 A Shisdar ot
el - || : afftas Boror Szl oI st oidt @

SRt il @ 3irclld I foreifeiRaa fameul 3 A Jaifere Sugm 3= ol :

[Question ID = 1482][Question Description = S2_qSNz_PG_CLR_Q92]

Both Statement | and Statement Il are correct/emr | 3iiz || gleil 3d & [Option ID = 5925]

Both Statement | and Statement Il are incorrect/aermer | 3iiz |l Sleif 3@t oidt & [Option ID = 5926]

Statement | is correct but Statement Il is incorrect/aemwr | A& 8, fpog et |l 2@ ot & | [Option ID = 5927]
Statement | is incorrect but Statement Il is correct/@emer | 3@t oidt & , fboqg @eret || 3@ & [Option ID = 5928]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemr | 3iR |1 glaii 28t 8 [Option ID = 5925]

83) Arrange the following works in their chronological order:
A. Tughlug-namah

B. Banalata Sen

C. Kayar

D. Tirukkural

Choose the correct answer from the options given below

forgotferRaa Faroisil Bl IoId> BICTHHGRIR RIaf¥erd Hifsm:

A. gorera- otran
B. aoterar Aat

C. ®rR

D. fozaaga

>

il feu sru farasedl 3 A A8 Ia= goi ¢



[Question ID = 1483][Question Description = S2_qSNz_PG_CLR_Q93]

1. B,D,C, A

[Option ID = 5929]
2. D, A, B,C

[Option ID = 5930]
3. D,B, A C

[Option ID = 5931]
4. A,C,D,B

[Option ID = 5932]
Correct Answer :-
e B,D,C, A
[Option ID = 5929]

84) Match List | with List Il

List | List Il

(Adaptation) (Director)

A. To Kill a Mocking Bird I. Francis Ford Coppola
B. One Flew Over The Cuckoo’s Nest |[Il. Robert Mulligan

C. Sense and Sensibility lll. Milos Forman

D. Apocalypse Now IV. Ang Lee

Choose the correct answer from the options given below:

el -1 Bt 3l -Il A AR Hife

et -1 et -l

(Puia) (forgorm)

A. g et g allfdbor a5 |. Bif3r31 WIS wulen
B. el weislla? ¢ @Sl olkc 1l. A= Pleorer

C. o371 Us ARMAferdt 1ll. RBrei1 whsfar

D. vuidicret o1 IV. dor cit

off<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 1484][Question Description = S2_qSNz_PG_CLR_Q9%4]
1. A-1,B-1II,C-1V,D-1l

[Option ID = 5933]
2. A-1L,B-1V,C-1I,D-I

[Option ID = 5934]
3. A-1,B-1I,C-1V,D-I

[Option ID = 5935]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 5936]

Correct Answer :-
e A-I,B-1ll,C-1IV,D-1l
[Option ID = 5933]

85) Who among the following is the source of Chinua Achebe’s title, Things Fall Apart?

Rrop3n 3re bl £2/e31 wrer srurd ot grad ot foworfeilRaa 3 A ®lot Ja 3?

[Question ID = 1485][Question Description = S2_qSNz_PG_CLR_Q95]
1. William Shakespeare/faférmr da=iftrr [Option ID = 5937]

2. Matthew Arnold/dtessmeifes [Option ID = 5938]

3. W. B. Yeats/ssq,. dl. acat [Option ID = 5939]

4. T.S. Eliot/dvaskric [Option ID = 5940]

Correct Answer :-
e William Shakespeare/fafermet da=iftriz [Option ID = 5937]

86) Who among the following wrote a novel entitled Pather Panchali that led to Satyajit Ray’s celebrated film?



forgoiferRaa 3t 31 urd? uiarefl 9fits as SusaRI fop=Tal ferar SR U= IAcafsra 3 &l yzma fiscar woit ?

[Question ID = 1486][Question Description = S2_qSNz_PG_CLR_Q96]
1. Manik Bandopadhyay/#ifor dctureier [Option ID = 5941]

2. Bibhutibhushan Bandyopadhyay/fspfersumr sictarerr [Option ID = 5942]

3. Premendra Mitra/giog férr [Option ID = 5943]

4. Narayan Sanyal/amrvr 2eerer [Option ID = 5944]

Correct Answer :-

e Manik Bandopadhyay/#ufires @caremer [Option ID = 5941]

87) Where did the devotional poets known as ‘Alwars’ and ‘Nayanmars’ emerge?
‘seaRt’ 3R 'oRIGIIRT’ @ U 3 i sfth PRIl @I Ica wai UR 331 ?

[Question ID = 1487][Question Description = S2_qSNz_PG_CLR_Q97]
South India/sf8mwr sea [Option ID = 5945]

Kashmir/@esftz [Option ID = 5946]

Gujarat/srr [Option ID = 5947]

Assam /3w [Option ID = 5948]

A W N =

Correct Answer :-
e South India/sfémr smea [Option ID = 5945]

88) Match List | with List Il

List | List Il

(Book) (Author)

A. Sirakukal muriyum I. Ismat Chughtai
B. Lihaaf Il. Mahasweta Devi
C. Hajar Churashir Maa Ill. Pratibha Ray

D. Yajnaseni IV. Ambai

Choose the correct answer from the options given below:

et -1 1 g -1l A @i Hife

et -1 it -l

( gzaw ) ( o )

A. Rrioama giwga |. s3oa gorets
B. ferere Il. srsreadr ot
C. 3oIR RIdR HY Ill. gfersm

D. IseirRioft IV. srars

oii<l feu are famedl 3 A A8 3R gfore :
[Question ID = 1488][Question Description = S2_qSNz_PG_CLR_Q98]

A-1V,B-1lIl, C- 1, D- | [Option ID = 5949]
A-1ll,B-1V, C-1l, D - | [Option ID = 5950]
A-11,B-1Il,C-1V, D - | [Option ID = 5951]
A-1V,B-1,C-II,D-lll [Option ID = 5952]

A WN =

Correct Answer :-
e A-IV,B-Ill,C-Il,D-1I[Option ID = 5949]

89) Who is the author of Maila Anchal?

dictl 3ifdcl b1 AXAD Biol 3 ?

[Question ID = 1489][Question Description = S2_qSNz_PG_CLR_Q99]
1. Agyeya/arsrr [Option ID = 5953]

2. Phanishwar Nath Renu/wufleaz irer 3up [Option ID = 5954]

3. Jayashankar Prasad/srigias? yzig [Option ID = 5955]

4. Premchand/gaase [Option ID = 5956]

Correct Answer :-
e Agyeya/asrerr [Option ID = 5953]

90) In which of the following countries the Ramayana is adapted as the Ramakien?

forraiferRaa 3 A fp2r o1 3 AeARIVT @1 BT ( Ramakien ) & wu 3 FuiaR g3 3 ?
[Question ID = 1490][Question Description = S2_qSNz_PG_CLR_Q100]



. Myanmar/siemz [Option ID = 5957]

. The Philippines/fiefidiar [Option ID = 5958]
. Thailand/eméets [Option ID = 5959]

. Indonesia/ssiaiforn [Option ID = 5960]

A W N -

Correct Answer :-
e Myanmar/®iem= [Option ID = 5957]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvfl # fSu s1u sifdst @ meR U gosll @ 3= difsme @

forgaiferRaa vl fdp=il fRrafdencrn 3 srcme1 - 31l f[erll 3 (T-u) dRRA reAa™] T YieIord scol 3R EATUd] daT AT @ relurd
Dl g ol 3 frafdenerr 3 qer sreamael of siwn 1600 3 wrvfl 3 83 o1 sifwst @ smems u? ol 1-5 ao d IR < .

31eMUehl oI faeRIar &t ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerer preamuast &t yfereraar (% )prearaw sitz seefrosi St gl
A
B
C
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

forerRr-C 31 sremuept i oot iz, faw=-D iR farRr-A 3 aafdafera su Ao srearftraisil &t ager Jzean ot gferor & ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow



Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 13U o1 3ifdst B smemR uz Yooll & Iar SifSe ¢

forgotferiRaa 2ar=vil fdp2il fRreafderern 3 st - il ferll 3 (T-uh) DRI eATa™] DI YieIord scol 3R EATUD] dal eATTUDII O ourd
@l yzdd ol 3 [rafdrencrr 3 et sieamam! &I e 1600 3 ArRvil 3 R oF) ifs! @ R R Yool 1-5 b D 3w S ¢

31EAUD] DI fARIAR dcal :

frerr areemuast B gfereradrn (% )preamads siiz siemnftapisii bl gferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

farerRr-F 31 oot sreamaopi bl i sl fae-A aen fawRr-B 3 aafdafera su A srearul & e @ dia fpae 3R 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu 31U sifds] @ dMeR U gosll @ 3= difsme @
forgotferiRaa 2ar=vil fip=il fRreafderern 3 st - a1l f[erll 3 (T-uh) DRI eAad] oI YieIord scol 3R EATUD] dal eATTUDII O 3oluld



@l yFgd ol 3 feeafdencrn 3 et sreamaml &I e 1600 3 Arvil 3 R oR) Sifds! @ R R Yool 1-5 b D 3dR ¢ &
el I fAsRIEaR el

frerr sreemmuast Bt gferoradr (%)sreamad sii sreftap1aii i yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

forerr-F 31 sreenftrastsii &6 Fizeanm siiz faerr-C 3t sieamuest bt e @ dia fabdor siaz 3 ?
[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aruft d fSU 510 sifwst @ smeR uz gesll @ 3a= difsie @

forrarferRaa rofl et fraferenert 3 srerer - sremT foreril 3 (U-uw) BRRA sreamu®! @1 gferord dcel 3R s[eATud] eI sieATfieIsii & srourd
@l yFgd ol 3 feafenern 3 @t sreamaml & e 1600 3 Arvil 3 R oR) sifos! @ R R Yool 1-5 b D IR S &

31eAUD] DI fARIaR dear :

frerr areemuasi Bt gferoradr (%)sreamad sii sreaftapaii i yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?



forafdencrr 3 srearamt &t et iz ol 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl # fSu 51U sifws] @ R U gesll @ 3a= difsme @

forearferRaa vl fp=1l feraferenert 3 sremer - 3rcrT foreril 3 (T-uws) PRRa srearawm! @1 gferord s 3R [eATUD] dell reATfiIsi & 3ro[urd
Dl yqd @il 8 faeafiener 3 aet sreamael & i 1600 & ARl 3 621 3R sifps! @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fARIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfrisil S Rt
A
B
C
D
E
F

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 srenfUrepisii &bl Fizenr @ gferora o siopurd frerr-D 3 sremmaost &t e 1 Reaen 3 ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4. 5:3

[Option ID = 14520]

Correct Answer :-
e 5:9



[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

UG IEATUD HRI UIS D YdlpuT & Skrel Ydfer & ufaderefierar srerar sia=rar ot fop21 su 3 Siren sirar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
1. Thinking curriculum/Ridet urgeias [Option ID = 14521]

2. Instructional variety/siféifere fafderar [Option ID = 14522]

3. Comprehension/zmst [Option ID = 14523]

4. Procedural knowledge/yfegercaes sier [Option ID = 14524]

Correct Answer :-

e Thinking curriculum/Rider uigerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

RA IRDR D 181 HGIerRT gRI Fanferd w33l il (MOOCs) ygrol @20l 3q =i (SWAYAM) sia & 1= ol dottol (RBsirsfoien) @ fere
fopaor agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]

1. 2 Quadrants/2 agefa [Option ID = 14525]

2. 4 Quadrants/4 aqgefe [Option ID = 14526]

3. 6 Quadrants/6 aqgefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il Sl Dol fRu sre 3 ¢
Dol - | : R & saren @ U 3 4 ad &l 33 D arcre 4 fgpnefier Fgfa @ Wil acd 3ol Ferret ur aid 8

@l - |l : Jzensi & yfd Afe vw dicid cRIdaR €161 ofdl SdI, dl 3eYRUI TR DaHsIR BidI 3 3R 3fod 3 sdell BR Sidr 3 o el oI Yol:
Icyfea ofdl fopan Sir A 3R A6 guizu A fagd 8 siar &

SR Dol D 3Iclld H, ofld U s1e famcul 3 A Jdt IR I wRIal HIfsrw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/eret | 3iiz |l gloif &t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sleta & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/erat | 3t &, fboq @ermw |l sier@ 8 [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/eme | st 8, fboq et |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/aemr | 3iiz | cleif 3t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills lll. Explicit Memory

D. Own experiences |[IV. Episodic Memory
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -1l
(aRrse w1 oxor et ciy) (z9fcr goor)




A. Aot I, siafoifdea Fgfer
B. srleot 1. orifaftre Fgfer
C. Uofir wlgrer (die: Raver) Il. Joaep Fqfer
D. smcamgqma IV. ARNBIs Fgfr

ofl fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1l,B-1,C- 1, D - IV [Option ID = 14534]
A-1,B-1I,C-1IV, D - Ill [Option ID = 14535]
A-11,B-1V, C-1ll, D - | [Option ID = 14536]
A-1V,B-1ll, C-1,D - Il [Option ID = 14533]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIABRAIS 3591 @ I HAsTrelicatds & i sof 3293 @I AAmfaree fopar S 3 :

A. Fcaiwel

B. e forerfzur @oon
C. o=

D. =remefar

E. sior

il feu aru fareseal 3 21 Al Ia= gol ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/daa A, B, C
[Option ID = 14537]
2. B, Cand D only/@aa B, C, D
[Option ID = 14538]
3. A,Cand Eonly/@act A, C, E

[Option ID = 14539]
4. C,DandEonly/@aea C, D, E

[Option ID = 14540]

Correct Answer :-
e A, Band Conly/adac A, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

9IIEI @ SIRIGI S &3 HARICHD 3R Alfcad efcdIvil A Fad 3 3k Yol ael uz eare dfoga m 3 Al 21 foafciRad 3 A a=I dal SIar 8

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/amtarg [Option ID = 14541]

2. Ethnomethodology/spstfeifesimer [Option ID = 14542]

3. Constructionism/3izdetcaasar [Option ID = 14543]

4. Positivism/frerrcama [Option ID = 14544]

Correct Answer :-
e Feminism/aRlarg [Option ID = 14541]



7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

Rp2ft uf¥acen & Jder 3 BRI B RR ol 3 Riftioa USRI, sr¢RIeT ARl FereiiR Siik Rl fRcIRIl & Hilsiel B! wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/feggstet [Option ID = 14545]

Content analysis/fwer Jmesf fas3wur [Option ID = 14546]
Corpus/@rd [Option ID = 14547]

Mediation/aeerzercar [Option ID = 14548]

AW N -

Correct Answer :-
e Triangulation/festor [Option ID = 14545]

8) ldentify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

bac? fessuur & dogm gl @ ferg wadl @ Adias bl usare @3 :

A. Isade AfRRaT S gAD BIctd A SJUID] Pl AeTwdl forpret

B. weeide @ dAfeast &t sren &3

C. orel ot Aerwd (T) YT a2

D. yRA® BIcH @ APIwe Bt (T) D aelge A fRpnfra o2

il fou s1u fyeseul 3 2 W& Fa= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

AW N -

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il

A- I. Number of individual items are developed into

Arbitrary a test which is given to a group of respondents
approach

B.

Consensus |Il. Scale is developed on an ad-hoc basis
approach

C. Iltem Ill. Chosen on the basis of their conforming to

Analysis  |some ranking of items with ascending and
approach |descending discriminating power

D. .
. _|IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera Hifste :

et -1 et -1

A. amefkesd ||, 3icIeT-31cIa1 1) &bl AT DY U ure 3 fala fasen Ssirar 2
eftcmior Y Sazcransit & s @1 o= Sirar 3




B. srdasara
efcaiur

C. 1 fereauvr [ll. RIEL Siik sraRIdl Ritomrdt o1ftp Afda @ a1ct &I guliaur
efSemlur Bl SrgIBUAr @ MR UR TRIfora

Il. acef smenR uz tanar @) farasfra foan sirar 3

D. it IV. feraa 3 onfdrer wol & fere gofl 31 A1t DI FPeAidol Dol B>
CIaAToTT fere forurizrant @1 toter

offa fou s1o fRrpeul 3 3 A I gforw ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14554]
3.A-L,B-IL,C-1,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlLB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

il ol Dol fdu sre 3 ¢

weret - | fgamenst Fizeen yprredt @1 smens 2 3

e - |l : fgsmemst A1, gorrcta Siis @ HdTel 8l alar & RrarT saa &b former onbl 3=a &
JURITP Dol D 3Tl 3, ofldl fGu s1u fameul # A A8 3= @1 =161 HifSte &

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/meet | 3R || gloil 31 & [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@eror | iz 1l Qeil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@eml | 31 & , fibog et |l s & [Option ID = 14559]
4. Statement | is false but Statement |l is true/epermer | 3R 8 , fbog @ere |l 31 & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/@sermr | siz |l grsif 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

THACI DI AT Dol D o1 b g D iR D A Uf® EIuaIidd MGTeI-Yglel 3616301 8 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

1. Vertical communication/3eaferz 2iwur @1 [Option ID = 14561]
2. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
3. Risk communication/shf3ae 3wt a1 [Option ID = 14563]

4. Personal communication/d=fepas iuur @1 [Option ID = 14564]

Correct Answer :-
e Vertical communication/3eaferz 2iwor @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words



Choose the correct answer from the options given below:

forgatferRaa 31 3 b2l usarer aiferes AYHuT Bloret & Hu 3 &I siedt 3
A. 3ITHRIG HIHT BT GRIBT

B. smeyfdar

C. BIsd® @ Uolcll BT Yraeiel

D. =i @ 9 ol

E. ¥dioRIcAD 91s5i BT YABT

il f3u s1e fyaseul 9 A W& 3= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

1. A, B and C only/daet A, B siiz C [Option ID = 14565]
2. B, C and D only/d@5aa B, C sfiz D [Option ID = 14566]
3. C, D and E only/a@aet C, D siiz E [Option ID = 14567]
4. B, Cand E only/a@aet B, C iz E [Option ID = 14568]

Correct Answer :-
e A, Band Conly/dac A, B iz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement Il: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

@l - | ;| ADRIDS YT, YD YT BT MTENR el &

@l - || : 3r-aifires JAd>dl o1 sruetr Arsn 31ef diar 3

JIRITP Dol D 3Tl 3, ol fSu 31u fameul 3 A A8l 3= D1 =6l HifsTe ©
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

1. Both Statement | and Statement Il are true/@emw | aiiz || Sleil 3 & [Option ID = 14569]

2. Both Statement | and Statement Il are false/a@erwt | 8iiz |l Gleil sRicr & [Option ID = 14570]

3. Statement | is true but Statement Il is false/memwer | A1 8, febog @t |l sRicr & [Option ID = 14571]
4. Statement | is false but Statement |l is true/emel | sRIcI 8 , fboq @ere |l 3 & [Option ID = 14572]

Correct Answer :-
e Both Statement | and Statement Il are true/aermr | siiz |l Sreif 31 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

Slelgdrc AYHuT bI ORI B AEt oA ol usars @3 :

A. 315 9jzenn

B. sireran gjz@en

C. sra9ru gjzaen

D. wwe ¥gis gfzaen

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]



Correct Answer :-
e A, B, C, D [Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics lll. Interpretation of signs

D. Semiotics IV. Concerned with meanings

Choose the correct answer from the options given below:

it -l oot 3Eh -1l A Fgafera HifSie :

Rpet -1 oreht I

(FqeroT I)fdriT) (frdreramd)

A. aiffdas |. Jguor Faof

B. uof farsier Il. FroApeil @ dfa AYuor
C. srefgea Ill. >l &l e

D. zidfers IV. sreif A HAdfera

oiiI fSu aru famedl 3 A A8 IR gforu :
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-1l,B-1,C-1V,D-Ill [Option ID = 14577]
A-11,B-1l,C-1,D-1V[Option ID = 14578]
A-1V,B-1ll,C-Il, D-1[Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

AN wN -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5,3.5, ___

8, 6, 4.5, 3.5 & 3igJaye I 3IPICH Blol-AT 3ib 3T ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

X @ a1 Y o1 3141 3ol 3 3R Z @ urRd X oI a1 3ol 3 3 Wl & ury Aldafera su Ay 618 Z, Y 3iik X & ura gA9r: fodor 8 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A WN -

Correct Answer :-
e 25, 16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter”.

How is the man realted to Kavita?

U BIC) I up Afp Pl S gu @fddr of wal, ds AR aral &l 4l ot a1 3 3 ufp A Pidar @1 a=r froar 3 ?
[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]



Nephew/ sicftsm [Option ID = 14589]
Cousin/adRr o1$ (apfoter) [Option ID = 14590]
Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

A W N -

Correct Answer :-
® Nephew/sicfism [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

il ol Dol fdu sre 3 ¢

@l - | : v flrore 3 et Slar a3l & Brore &1 33, @ Bt IF A 5° 3me) 96 oIl 3

P - |l : afe RBete 3iiz @ &1 gzt v & Rrefer 3 3m9) agon 9s @l 3 A el Jsat 64 Biore arc v, g A Ricish
JURITP Dol D 3AIeld 3, ol fGu s1u fadeul 3 A 38 3T @1 =61 HifSte ©

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

Both Statement | and Statement Il are true/wmeret | 3 Il Gloil =1 & [Option ID = 14593]

Both Statement | and Statement Il are false/@erer | 3iiz |1 Sloil 3Rt & [Option ID = 14594]
Statement | is true but Statement Il is false/®epol | 311 € , fpoq et |l sRIr & [Option ID = 14595]
Statement | is false but Statement |l is true/eermel | 3R 8 , fog @ere |l 31 & [Option ID = 14596]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are true/@serwr | siz |l greif 31 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 314500 at a loss of 20%. The cost price of the mobile is $18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choaose the correct answer from the options given below:

FafaRad eyl R ffER &

A. T SR H g1 713 46% B e, dH IR H &1 715 10%, 20% 3R 25% Fel & R 3

B. Uh HISISd Bl 20% ®1 1i- U 14500 ¥ H &9 9T &, Hidlgd &I AFTd §ed 18225 % &
D.afE g, g gea @1 1l g1 28% &

il fu U fydedl & € W81 S I :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. A and B only/dact A siiz B [Option ID = 14597]

2. B and C only/dact B siiz C [Option ID = 14598]

3. Aand C only/aact A siiz C [Option ID = 14599]

4. Aonly/dae A [Option ID = 14600]

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgoiferRae 3 3 Blol-AT a® M 3 Sl cAftp @ fepardl ik uRReferil & dia Jider oI TP B
[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]



Argumentum and Baculum (force)/smejdicat vs dqaa (ofcp) [Option ID = 14601]

. Argumentum ad Hominem (circumstantial)/smfiies o5 aifdem (uf¥Refesoa) [Option ID = 14602]
. Argumentum ad lgnorantiam (ignorance)/smejiics vs sooidfe=rel (3rsiorer) [Option ID = 14603]

. Argumentum ad Verecundiam (authority)/ smfiics esdgfSere (gifeier) [Option ID = 14604]

A W N -

Correct Answer :-
e Argumentum and Baculum (force)/smsjdica s dqeta (oifep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® arall @ KGRI gt 3 Al "o Ica Adear o1dl ' 3RI 3, dl forvoiferRaa 3 2 b1 ae DI A8 Ael ST ADdr 8
A. "t A AAdeIn ' 3RIcA &

B. "®® 3¢ e &' Aca 8

C. "3l A6 AqcIan &' Aca

D. "®I¢ AAcT Al 518l 3 AcA &

offa fou s1u fyepeul 3 21 & 3a= goi ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. A and D only/daet A siiz D [Option ID = 14605]
. A and B only/dact A siiz B [Option ID = 14606]

. B and C only/@ac B siiz C [Option ID = 14607]
. Cand D only/aaet C sfiz D [Option ID = 14608]

A WN -

Correct Answer :-
e Aand D only/a>act A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forgatferRaa wiol-31 B¢ awaral @ PR AR PR DI A8 3U I YIdd B 3 ¢
et camurdl sirea-frearh A 3

sneA-ferearat f3a o off waftp enfifes ot Sran

safere o oft enfdfes cafts camardt orét atar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - Il

[Option ID = 14610]
3. AEE - il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]
Correct Answer :-
® AEE - |

[Option ID = 14609]



24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

Sire sfogal &1 el A ucredf @ arR 3 SRl i ol & sfogal o sif¥dea genfora fewn sitar & forsot 31 21 v Gt ¢

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/ siopsrel yamr gt [Option ID = 14613]

2. Sabda pramana/erss ygmr grer [Option ID = 14614]

3. Arthapatti Pramana/sterfufer grr [Option ID = 14615]

4. Upamana Pramana/3udtrer ygimr g1 [Option ID = 14616]

Correct Answer :-
® Anumana Pramana/sigpiret gemot gt [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Silol & fobA Fa>U Bl 316=1 Silol Bl AGRIAT A Y oIdl v Sirer 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/grer [Option ID = 14617]

2. Inference/smpmet [Option ID = 14618]

3. Word-testimony/orsg ggmur [Option ID = 14619]

4. Comparison/3udmet [Option ID = 14620]

Correct Answer :-
® Perception/yger [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTeA3R o der i vl gt smfter Rrea &t fidruarsit # frafiRaa enfirer i 3

A. R $coBd - GRIepI @ BRIe D S AYur 6 srggefer Sar

B. 3381 gderer - RIeT 3 3@ Yoyl 3R siipst @ 1w sidf¥es Jeist (312 © war) ot sirdco Siiz araT At 3arsAd WR 3iist &bl Yol gafir
q 9iSRUI

C. Jarerol FvIcTon - uf¥eliRr 3arsAl (se1yge a 3MSeyc 3arsA) I forifeld w2 a uf¥dir Sarsil @ fée gRIpT 31l DI HHIcTol

D. scvole uga - $eolc U= AAni D R AuD Ygrel del

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

1. A, C and D only/@act A, C sliz D [Option ID = 14621]
2. B, C and D only/daer B, C siiz D [Option ID = 14622]
3. A, Band C only/daar A, B siiz C [Option ID = 14623]
4. A, B and D only/dact A, B siiz D [Option ID = 14624]

Correct Answer :-
e A, CandD only/@act A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet




C. Defines how messages are
transmitted and formatted over the Il. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -1l

(R ) (SURITD adeildl ug)
A. Sfagdic Jollol @ fere cisdst feraell BRI acs arss |

de UR 31 SIe '

B. $ceoie o e ol Aard 33 B fore Row o s g g0

DI IR ol dlcl PRI

C. fcwore o ghafiie wd e g A I | o

D. U1 JifedR Sil GRIPIDbdl ®l $colec UR Sagic IV. sczore ade

oIz g} i AIerGil Dl VaRIRA/SFol D AN TolIdl Bl

oflax 3w o1 el 3 A At IR gfom :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-NI,B-1IV,C-1,D-1

[Option ID = 14625]
2. A-1,B-1V,C-1l,D-1l

[Option ID = 14626]
3. A-IV,B-1II,C-1,D-Il

[Option ID = 14627]
4. A-UL,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-IIlLB-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

IS DURIE D aed o 3 fordtifdea FeRs RasAa @1 craf¥eda &ifsre:

A. Sidts.

B. M3 - 3w

C.sq ¥

oiiI f¢u are faaeal 3 A Al IR ol ©

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

AW N =

Correct Answer :-
e C, B, A [Option ID = 14629]

29) Given below are two statements

Statement I: An operating system controls peripherals, and allocates memory and processor time.



Statement Il: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

il St werel fdu e 3 ¢

ool - | @ v sifafest Rieear aftdzear @ forafoqa @wear 3, iz A 3l YRIFIR AIRT BT Aol BT &
@2l - |l : g sifufesr Rizcar $edic VadlA yglol @2 &

SURITP DYoll B 3Tl 3, ofll fSu 31w famedl 3 A A8l 3= D1 a6l HiIfSTE ©

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14633]

Both Statement | and Statement Il are false/@emt | 3z |1 Gloil 3Rt & [Option ID = 14634]
Statement | is true but Statement Il is false/@erer | 3 @, fpoq @eret |l sRir & [Option ID = 14635]
Statement | is false but Statement Il is true/wmermr | sRica 8 , fboq weret || A= 2 [Option ID = 14636]

A w N =

Correct Answer :-

e Both Statement | and Statement Il are true/@erer | iz 1 Siail 21 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?

forgatifepa 31 A Dol U SiL.Y IS, (SJfbapet YR $cWA) T & Sl dg [aaeul 3 A v DI Jolol A YT fop=n Sirar

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
1. Scroll bar/zmjer arz [Option ID = 14637]

2. Push button/ger acot [Option ID = 14638]

3. Progress bar/qeRt ar [Option ID = 14639]

4. Radio button/3f=0 gcat [Option ID = 14640]

Correct Answer :-
® Scroll bar/z@jfer @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgotferRac 3 A Dlol-AT A5T U JaTofl fAfdb20T Ygiraol @ BRI oIdt aXer 3 ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierett ofter [Option ID = 14641]

2. Melanoma/dctrsiten [Option ID = 14642]

3. Ocular damage/alq eifer [Option ID = 14643]

4. Erythema/camfepan [Option ID = 14644]

Correct Answer :-
® Bronchitis/eariorctt oiter [Option ID = 14641]

32) Match List | with List Il

List | List Il

Class of water

Example/Explanation
pollutants P P

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 B e -1l A g i

reht - il
STl YgHel &I st 31801 / AT

A. JPTSTeld PRD |. argsildl sfiary gr1 fdafea oo srufdrse




B. sifa=fisiol a1 w2al arcax

1. , cIqul, faurs 31t @ A
sraforse Jaet g

C. el & Jrewrdforas W, ooy geftaroy (qirsiton) @b sefe

dea
D. ster 3 geratofter IV. ste1 3 gerorofia arsee 3l wizwe diare senfe
Brep1eifored ARG I aifer giig @ &

offa fou s1o frpeul 3 3 A I gforw ¢

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-Iv,C-1l,D-1lI

[Option ID = 14645]
2. A-1,B-1I,C-1,D-IV

[Option ID = 14646]
3. A-1L,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1l,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-Il,D-1ll

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement Il: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il o Dol fdu sre 3 ¢

Dol - | : afd:3yra &t sEiiforan farpar 3 gf; arsdias=ur o1 ufvme &

Dol - || : fRersdiaut # Siar] @I GRIPT B2 AIs¢e DI ollsglsiol 31 3 AUARIA D &
JURITP Dol D 3Tl 3, ofll fGu s1u famedl 3 A 38 3= @1 =61 HifSte &
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

1. Both Statement | and Statement Il are correct/weret | 3iiz || gloll 3@t & [Option ID = 14649]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sieta 3 [Option ID = 14650]

3. Statement | is correct but Statement Il is incorrect/wmermt | 3@t € , fpoq el |l ser & [Option ID = 14651]
4. Statement | is incorrect but Statement Il is correct/@em | st & , fpoq et |l 3 8 [Option ID = 14652]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iz |l 2leil 3t @ [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

TeTdol Qb $pr$ fparr & fSrImT susilel 3rufdrese Siel A a@r g ol 3 fovan sirar 3:
A. 3ftfa forcifda ol1 ugrelf @I scrol d

B. 1ig Sifdhi s1e Hlas @ fere

C. de 3ii= 3ff1 (3ffsr) @t e A

D. Ste1 @ 3Rl ORI Bl seral I

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]



A, B and C only/dact A, B aliz C [Option ID = 14653]
B, C and D only/adaet B, C 3iiz D [Option ID = 14654]
A, B and D only/d@act A, B sz D [Option ID = 14655]
A, B, Cand D/A, B, C 3liz D [Option ID = 14656]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 14653]

35) Match List | with List Il

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;Cl; Il. Halons
C. CoF4Cl2 lll. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgaifera Hifste ¢

Rreht -1 gl
sirsilel gifa ucref Sie

A. C3HF7 I. HCFC
B. C2FHCly Il. 3ciica
C. CaF4Cly Il. HFC
D. CF3Br IV. CFC

il fou a1 fyseul 3 A A IR gfom ©
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

A-1,B-1Il,C-1l,D - IV [Option ID = 14657]
A-1lI,B-1,C-1V, D - Il [Option ID = 14658]
A-11,B-1V, C-1ll, D - | [Option ID = 14659]
A-1V,B-1l,C-1,D-Ill [Option ID = 14660]

A w N -

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Sod 118 Jzereil &l wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/smea [Option ID = 14661]

2. China/der [Option ID = 14662]

3. USA/guae. [Option ID = 14663]

4. Russia/z2 [Option ID = 14664]

Correct Answer :-
® [ndia/sma [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgaifeiRaa I So1d> 31061 WA PICTRAGRIR afded Hifsre
A. BIcler 3MRIBT

B. JscrR smer

C. Foord wrfga (frercar)

D. wrrte aistonr  (Ceiror)

E. gs B3«

il fou s1e fraseul 9 2 & 3a= goi ¢



[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

E, A, B, D [Option ID = 14665]
E, B, A, D [Option ID = 14666]
, E, B, D, A [Option ID = 14667]
B, E, A, D [Option ID = 14668]

A WN -

)

Correct Answer :-
e C,E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forgaiferRaa 3 2 Plat A Aifaflte foror 3 :
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1u fyeseul 3 3 & Fa= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>act A siiz B [Option ID = 14669]
C and D only/aaet C sfiz D [Option ID = 14670]
A and C only/a@aet A siiz C [Option ID = 14671]
D and E only/@qet D siiz E [Option ID = 14672]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 st 2ft 6t Ferruen fopa oa & Re g5 3 ?

A. Tor 3 Iea e 3 siopiend ik staydcdell &l aerar Jol

B. frafdemcrit 318 @ HreIb! ®I WtoarIal, forerfzur 3tz S¥asmar

C. Tor 3 Ica fAren ae ugd I dGTel

D. fraféencril 3iiz sl oY sioIcloll a1 frauT w2l

E. 3@ aen asa IRPRI SR Iaa fOren siffemt el & dia dstayul ot & wu 3 a1 Ygrel el
ofi o s1u faseal & A A8 IR BT <RIt HIRIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/@aet A, C iz E [Option ID = 14673]
A, B and C only/a@aet A, B siiz C [Option ID = 14674]
A, B, C and D only/ddaet A, B, C siiz D [Option ID = 14675]
B, D and E only/@aer B, D siiz E [Option ID = 14676]

A W N -

Correct Answer :-
e A, CandE only/@ae A, C sz E [Option ID = 14673]



40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [ll. Promotes research in History

C. ICPR |lll. Promotion of quality in Technical Education|
D. ICSSR |[IV. Promotes research in Social Sciences

Choose the correct answer from the options given below:

gl -1 @1 g -1l A Fgaifera Hifste ¢

Rxet -1 Rret -l

A. AICTE |. coforomm & 3roIRieiel Bl dGTol

B. ICHR II. sRrara 3t aropienor 1 agron

C. ICPR Ill. awoficht forgn bt spuradr oI gerar Sl
D. ICSSR V. smenfSre fasteil 3 sielRiensT Bl aGiel

ofla fou o1 freseul 3 3 A IR gforw ¢
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-1ll,B-1I,C-1,D - IV [Option ID = 14677]
A-1ll,B-1I,C-1V, D - | [Option ID = 14678]
A-11,B-1ll,C-1,D - IV [Option ID = 14679]
A-1V,B-1I,C-1ll, D - | [Option ID = 14680]

A W N -

Correct Answer :-
e A-IlIl,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 31U srenior o UG iz ofid 3w a8 Yl & 3az & :

ARSI afdpR vd o3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wwul 9 siRdaraaret snfffe, ARNRIG, IEEfTE ik ARolhe - Ao
PRIl @ fif¥ieor uacy3il @l Aefse Dol Bl URVI 3 $AD Acd D 1w Wl gu; A6 9153, Il AP Sl ffp, AP SR ARG wu A
afdvapd APl ur ATl DIGA D 3 3R AT & Az 96 ATHISID WU A w183l cllvll Bl Jorchl Ferfer A ars? orepIcral @I BRI B0l dard ¢ iR
&A161 DIGA DIAT 3 BiA D AAST ANRRIT D cidl 3 JIRT WU 3.gd AS ARV Uil U 3 96 gu WU 3 RISl o1 &alol gra @2 3 3 53
9166 I Ieufel, ar<d I JIRT dAdoiidl gocld 3R > Yorizell @ el IR - IMENRBID AATST d ATMRID DIl D Seekd FasU DI
Yol3IAaeIRuIl dollol @ b YRATA Dl Yghdfa ol T 3crsur @ fere uffmer Amnfore foravse 6 ves wetiye sl gfdgzm o siopia @2 a1 3 sl
safere A 261 3 aRiifes asi cid JIRT Bl AASEIE, TGl AYARIT A BeANIGHEI IS A WS seol & aifcfaf?ril uril s 38 3 waraeu oY
e ARNRIB YS! BT 35d Al W 3 3R I Rl @ o 3 faffost u 3 siel S 3; 'ora siienfere sifla’, ‘srgaril’, ‘gfeirdl J3s’, "vwa
siffrra’ affaa A oRil Ao AaFs & giy D Adea I Ao afdcor 3 WRI a6 Rl 3 AT 31 Hsrayul g Feadre far & F gaa
TRIT AEMRUN 3 ok 9Nfdret dar 3 Sl freaduur gRI siidl, 3RTIeIdl, e scfe @ S 3if2re USURPId BHA® D dad oIl Yglol = s
APl GIRI 3R 3iferd Asragul, oo a=Ir 3 I@erRun @ PRIURT ufeyer A forRT crazen (ifésr) @ sifefed farai¥a o st Adsen ? o= a6
IR DI AW A i1 B avw S AN, T WAl Refel PR agizad el &6il 31 A v Wil Rerfer RR1 agiIe diel oRid 8l ? Iute 34
3 oidll, 3RIHATeIAl, ddel Gl 3R grararsil arcl JHdfera el ur farerl frayur # carud wu A eurer G sk &

The concept of social exclusion is multidimensional because of:



AP dfdepR &I sraemvn b1 BRI A dgsmred 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/ffder gl ue dfga [Option ID = 14681]

variations in deprivations/dden @ ¥au di fierar [Option ID = 14682]

the prevalent notion about social outsiders/m@fSie *u 3 aE3t clell d ar # yafera saemrvn [Option ID = 14683]
social statuses across nations/=iguf Ser 3t Jmnfors Refer [Option ID = 14684]

A WN -

Correct Answer :-
e multiple groups to focus on/fafer el w2 dfga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& 31U srenior o UG 3z ofid 3w a8 Yol & 3az ¢ :

ARNRIE afdvdr o ag - R saemv 3 Sl Ayt Sor 3 fafaer wul 3 si¥awaaret snféfe, ammisie, Asnife ik Airaiie - apnie
PRIl @ fifSieor uacysil @l Aefese Dol Bl RV 3 $AD Acd D 1w Wl §U; A6 9153, Iol AP Sl ffp, ATMBIP SR ARG WU A
afdcmd APEl UR eA1el DIGA D 3 3R AT & As 916c ATHIRID 94U A d163l Izl DI Jorchl R-afer A ars2 formictol @1 BRI B2l ard ddq U
€161 DIGA DIAT 3 BiA D AAS ANRRIT D cldl 3 JIRT WU 3.gd A6 ARV Uil R 3 96d gu WU 3 ISl o1 &alol gra @2 3 3 53
9166 I Ieufel, dR<d I JIRT dADoiil doclid 3R M YoRiFIel @ ek IR - MEBID AATST d ATAIRID DIl D Feekd FaBU DI
Yol3IaeIRuIl dollol @ b YRTRA Dl Yghdfa ol 3 3crsur & fere uftier Amnfore foravse 6 ves ety sl gfipzm @ siopia @2 a1 3 Sl
gaferg 31 81 3 aRilfs dsl cid JWrT G RISEIE, d6dl AYARIH 3R BeANIBE IS A WD seal & siffaferii uril s 3@ 3 wazaeu o)
eI ARNRIB AT BT 35d 3l W 3 3R I Rl @ o 3 faffiost u 3 sie S 3; ot siienfere sifla’, ‘srgarRil’, ‘gl J3E’, v
iffrra’ afaa A oRil A AHFEH & giy D Ade A Ao aldcor 3 WRI a6 Rl 3 AT <1 Herayul e Feadrel far & F gaa
TRIT ARV 3 ok 9Nfdret aXar 3 Sl freaduur gRI siidl, 3RTHIeIdl, deel scafe @ S 3if2re USURPId BHA® D dad oldl Yglol = s
APl GIRI 3R 3ifers Asragul, oo a=Ir 3 I@erRvn @I PRIURT ufeyer A forRT crazen (ifésr) @ sifefed farami¥a foan st Adsen ? o= a6
IR I AW A i1 B aew S A, v Wl Refer PR agizsad el &6il 3i A v Wi Refer R agizae diel sRkid 8l ? Jute 3
3 o8idll, 3RIHATeIAl, ddel el 3R graarsil arcl JHdfera el uR Rl frauur i smud wu A earet & sk &

The new reflection on social exclusion has emerged from

ARG afdepR UR oid - Ridel waf 3 3cusd g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

1. The industrialisation process in Europe/zRu 3t siteisfiasur yfdgenr [Option ID = 14685]

2. The arrival of new scholarship in sociology/wisionz 3 oRI Uifsr (IpeRiSM) @1 smeriel [Option ID = 14686]
3. The technological impact on societies/?misl w adoiidt gama [Option ID = 14687]

4. The changes in the nature of social inclusion/@fSie a6l @& Fa=u 3 deerrd [Option ID = 14688]

Correct Answer :-
e The industrialisation process in Europe/zRlu 3 sieisfiasur gfepzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new



vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents', among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

A 31U sren9r o ug iz ofid 3w a8 yesil @& 3a 3 :

AAISIP Jf3ePR U §g - RIE sraenzvn 3 it Aegul Sor 3 fafaer wul 3 sidaraarst snfffe, ARIRIE, ISl it ARDihe - Ao
ofdril & fafitoet uscysil I AMate Dol DI RV E $AD cd D feI8 WA g; AT 9Isg, Jol APl Sil nffd, S iz ATDpiad wu A
qfdtayd AP UR &A1l DIGA DIAT 8 1R ATA 8l A6 916 ATHAISID WU A d1831 clIsll DI Iorhl F-e1fer A q182 formIctol I BRI w2l ard e U
€161 DIGA Bl 3 WA D AT INRGRIT D ol 3 IR WU 3.gd A6 aLIRI el RIU 3 96d gu U I RIgTell I &al6l gra @2 @& 3 s
9rec bl Ieufel, araa I P awolidl dcad 3R nffe gerRizae @ e 3R - MENBRD A 3 AHIRIP DIl D Joekd Fa>U DI
Yol3IaeRuIl Jollol & U JRIRT Dl Yoldfda ol & 3erseur & fere ufkin Amenfores foravsa & v goflyyd aXdl gfipzn o1 sigpsia @2 a1 3 Sit
gAferg 31 a1 3 dilfes dal cid FrRT Gt RASEIS, Gl FYARTT 3R BeAIBE AT A i sear G sifeifaferi urfl s 36 2 Gazanu oY
HNE ATHIRID BT BT 35 8l Wl 3 3R d gIRI D dia 9 fAfdiost 4 3 Sirel S 3; "o SHENRp s, 'siyaril’, 'gfsircdl 39s’, "o
siffiraes’ ufaa 3 oril ArnfSie Aazasl & giy @ Ade A Ao afdemr 3 T 96 skl 3 ST oI Asragul #g Feraret fdar &> gaa
TRAT [ALIRVT 3 GRIT 9NfIreT BT 3 Sl feauuT GRI si¥idl, 3RIIIeIAl, ddel sfs @ ST 3If2[d URURPIA BHAMm B dad ofdl Yglol fapa i
APl GIRI 3R 3uferp AeTayvl, 6 o= $21 sr@ervn @I IR uf¥ggRn A f[erT craven (Afcer) o sifelye fraifya e s aden ? o= a8
IR Bl G A cfer Gt = S ADen, v ¥l Refer Rrml agizsre oot eofl 3 3 v ¥l Refer el agizsre et si¥lg al ? Fuse U
A s8I, 3RTHAToIAl, ddel aberl 3R graarsii arcl Hdfea el ur PRI Rreadyur # iU U A &rel 6 sri @

The post-industrial society and economic restructuring have contributed for
IR - JENBID AATS 3R N> YorRizel of fchad fe1u APl f$ar 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

1. The reconsideration of employment issue/3IsPIR 38 w geifdar [Option ID = 14689]

2. Strategies aimed at social integration/mufsie wblmur 3q cfdi welieril [Option ID = 14690]

3. Fragmentation of welfare state/@camimEl s @1 fdzaa [Option ID = 14691]

4. Social disintegration into new deprived groups/sra dfra Wwjgl 3 AP frauser [Option ID = 14692]

Correct Answer :-
® The reconsideration of employment issue/3JspIR 3 w yeifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 a10 sreror @ ug iz offa 3w a1 yesil B 3R ¢ ¢

ARNRS afdvdR udb a3 - R sraemun 3 Sit Ayt Sor i fafaer wul 3 si¥awaaret snfife, AmmiSie, IsHife i Argies - apnie
oIl @ fafitoel uscysil ol AAMate Dol DI RV § $AD Acd D 18 WA gU; AT 9Ieg, Iol APl Sil nffd, AMSID 3z ATDpiad wu A
i3t APl UR €A1l DIGA DT 3 31 AT F A5 9166 ATHIRID WU A d1831 clIvll DI Jorchl R-2fer A d182 formIciol I BRI w2l ard e U
€110l DIGA DA 3 BiA D HATS ARRAI D ol A PR 14 Igd IS ARV Uil IR A 96 gu +U d [ISTell DI &a16l yra @2 Wl & 33
9166 I Ieufed, drdad I HIR ddoiidl doelid 3R MMM Yorixroll @ Tcid IR - ENBID AATST d AHISTD Dl D Seeld FaBU DI
Yol3IaeRuIl Sollol @ U YRR Dl Yoldia ol 3 3orseur & fere ufkinr amenfsie foravsa 6 v goflsya aXdl gfdpzn o1 sigpsia @2 T 3 Sit
sAferg 31 261 3 wilfs dal cd JIrRT Bl RASEIE, Gl FYARIH 3R BeANIBH IS A i seal &l siftifaffril uril sir @ 2 Bazanu o)
eI ARNRIB APLI BT 3gd 3l W & 3R I Rl o 3 fafficst U 3 sie! S 3; "o sienfre sifla’, 'srgarfl’, 'ofsidl J31E’, v
siffirae’ ufaa 3 oril ArNfSie AazAEl © giy @ Ada A Ao afdemr 3 I 96 srRil 3 AT oI Asvaqul # Jeaaret far & 3 yaa



TRIT AEMRYN 3 ok 9Nfdret dar 3 Sl fraduur gRI siidl, 3REIeIdl, e scfe @ S 3if2rd USURPId BHA® D dad oldl Yglol = s
APl GIRI 3R 3iferd Asragul, b a=IT 3 I@ErRvn @I PRIURI ufeyer A forRT crazen (ifésr) @ sifefed farai¥a foan s Adsen ? o= a6
IR DI AW A 31 B dw S A, T WAl Refel PR 9gizad el &6il 31 A v Wil Rrerfer RR1 agiIe diel oRid 8l ? Iute 34
3 oidll, 3RIHATeIAl, ddel el 3R grararsil arcl Hdfera el uR Rl frauur # carud wu A earer & sk &

The scholarship on social exclusion has gone beyond
AEfere afdspr uifdca (FpicRBa) s3ad W S gor 3 ¢

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/r®RI &I uga [Option ID = 14693]

2. The conventional thinking/uuzmera 2ra [Option ID = 14694]

3. The normal issues of deprivation/dden @ 2meret § [Option ID = 14695]

4. Common perspectives of inclusion/J@#morer @ JAm@eA ul¥Yg=r [Option ID = 14696]

Correct Answer :-
e The reach of governments/3R®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 a1 srEn9r @I ue 3R offd fSu 31w gosll D IR < &

ATHISID SfEDR U &g - RGN sraemRun 8 Sii AFgui Sor 3 fafaer wul 3 siFaradret sniRie, ARNRIE, IsEiide ik ARG - AP
PRIRIl @ fafteor uacy3il ®l Aefse Dol Bl URVN & $AD Acd D 1w Hel gu; As 9166, Iol AP il fdfp, AP 3R ARG WU A
afdcmd APl UR eAr6l DIGA DI 3 3R AT & Az 9166 AAIRID WU A d183t Izl B Jorchl F-erfer A ars2 formictol @1 BRI w2l ard ddq U
€110l DI DA 3 BiA D TSl INRGAT D Al H PRI 14 Igd A6 JALIRVN Ul R 3 a6d gu U d RIsrell @1 &ar6l Y @2 3 & 39
9rec bl Ieufe, araa I Pz dwolidl acard 3R snffc gerizae @ e 3R - MNP AT d AHIRID Dl D Joerd FasU DI
Qol3aeIRuII Jollal B U YARI DI Yolidfa ddl 3 3creur o fere ufkpr aenfore fravser & v gefisya aidl g o1 sepa @2 361 & Sil
gAfeTE 3Y 261 3 Wilfs dal cid FIRT Bt RASEIS, Gl JYARTT 3z BeaAIBEl AT A i sear & sifcifafert urft s @ 2 Garaeu oY
el ATHIRID BT BT 3G 3l I 3 R A RI D i 3 fafdioot 7 3 Sirel S 3 "ot Siienfe s, ‘sryarfl’, ‘seidl J9E’, "voa
siftrrae’ affaa A oRit AP Aa=sl & gy & Adea I AP afdsor 3 wRI a6 R 3 As! 31 AeTayul L Feuare kR D F gaa
TRIT AEMRUN 3 ok 9Nfdret dXar 3 Sl feaduur grRI séidl, 3RITeIdl, dae scfe @ SIA 3iferd USURPId BHA® D dad oldl Yglol b= sir
ADAl GIRI 3R 3ferp AsTayvl, fb o= 521 sraermrun @I Pk uf¥geRn A fert craven (Afcer) @ sifefym fraiiya fepan st aden ? o= a8
IR bl @ A <fdrur b e S Aden, v VAl Rerfer Bradl sgizrd oller erofl 8l A v ¥l Rerfer RBradl sgrizsa® ofier s1dle 8l ? Fute WU
3 SRHEl, 3RIATGIAL, ddol sbcl 3R SEHTATSIl arcl a2 Fei R forRT irduvr 3 *mue »u A &5« $ar srr 3

The concept of social exclusion is now
ARSI afdcdR ol 3MSIdd ALV 3 :

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdlr ciisli wr dfa fawrr (efter) [Option ID = 14697]

2. Anissue of developmental capability/fd@rRicad met a1 #a1 [Option ID = 14698]

3. A commodity for export from the North to the South/3a= 3 gfér &t aew foria @ fére azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2wi siem:t 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/RIdRr efell w2 @i fawer (efisr) [Option ID = 14697]





